
cfh ldlt @)&$ efb| @ ut] z'qmjf/sf lbg gu/ k|d'v >L j}s'07 Gof}kfg]Ho"sf] cWoIftfdf gu/ sfo{kflnsfsf] 

a}7s a:of] . a}7ssf] pkl:ylt / lg0f{o b]xfo adf]lhd /x]sf] 5 . 

pkl:ylt 

– gu/ k|d'v >L j}s'07 Gof}kfg] pkl:yt 

– gu/ pkk|d'v  >L ld/f hf]zL ,, 

– j8fWoIf j8f g+=! >L v/l;+ b/} ,, 

– j8fWoIf j8f g+=@ >L sfzL/fd >]i7 ,, 

– j8fWoIf j8f g+=# >L k|]ds'df/ >]i7 ,, 

– j8fWoIf j8f g+=$ >L ljZj/fh Gof}kfg ,, 

– j8fWoIf j8f g+=% >L df]xgs'df/ >]i7 ,, 

– j8fWoIf j8f g+=^ >L ;"o{eQm e08f/L ,, 

– j8fWoIf j8f g+=& >L ;ltzrGb| Gof}kfg] ,, 

– j8fWoIf j8f g+=* >L cf]h/fh kf}8]n ,, 

– j8fWoIf j8f g+=( >L ;'/]z yfkf ,, 

– j8fWoIf j8f g+=!) >L t'n;L/fd ;fksf]6f ,, 

– j8fWoIf j8f g+=!! >L lg/axfb'/ v8\sf ,, 

– j8fWoIf j8f g+=!@ >L tf]qaxfb'/ s'+j/ ,, 

– j8fWoIf j8f g+=!# >L n]vaxfb'/ /fgf ,, 

– j8fWoIf j8f g+=!$ >L sfhLdfg >]i7 ,, 

– gu/ sfo{kflnsf ;b:o >L tdaxfb'/ b/} ,, 

– gu/ sfo{kflnsf ;b:o >L s]zaxfb'/ ;'gf/ ,, 

– gu/ sfo{kflnsf ;b:o >L sNkgf kf]v|]n ,, 

– gu/ sfo{kflnsf ;b:o >L rGb|dfof kl/of/ ,, 

– gu/ sfo{kflnsf ;b:o >L ;'g;/L u'?ª ,, 

– gu/ sfo{kflnsf ;b:o >L cd[taxfb'/ g]kfnL ,, 

– gu/ sfo{kflnsf ;b:o >L dw'dfof 3tL{ ,, 

– gu/ sfo{kflnsf ;b:o >L g/Ldfof yfkf ,, 

– ;b:o ;lrj sfo{sf/L clws[t >L xl/k|;fb af:tf]nf ,, 

cGo pkl:ylt 

– al/i7 cfn]k clws[t >L s'df/ s+rg lh=;L= pkl:yt 

– n]vf clws[t >L d]3gfy cfrfo{ ,, 

– k|zf;sLo clws[t >L /fdrGb| x8\vn] ,, 

– OlGhlgo/ >L /ljGb|nfn d'n ,, 

– sDKo'6/ clws[t >L uf]s0f{/fh jfUn] ,, 

lg)F{o g+=1M xfn}dfq cfPsf] af(L k}/f]af^ k|efljt 26 lhNnfsf af(L lkl*tx?sf] ;xfotfy{ Jof; 

gu/kflnsfaf^ k|wfgdGqL b}jL k|sf]k p@f/ /fxt sf]ifdf hDdf ul/Psf] /sd ?=1,11,111. cg'df]bg ug]{ 

lg)f{o ul/of] . 



lg)f{o g+=2M Jof; gu/kflnsfsf] j*f g+=2, 3, 4 sf] kmf]xf]/d}nf Joj:yfkg ubf{ nfu]sf] vr{ /sd 

?=2,76,600. -b'O{ nfv %xQ/ xhf/ % ;o dfq_ vr{ n]Vg] lg)f{o ul/of] . 

lg)f{o g+=3M Jof; gu/kflnsfsf] :jLs[t b/aGbLdf :yfoL tyf c:yfoL ?kdf sfo{/t sd{rf/Lx? bdf}nL 

vfg]kfgL tyf ;/;kmfO{ pkef]Qmf ;+:yf ;d'bfodf x:tfGt/)f eP;+u} sfhdf uPsf x'+bf tL ;Dk")f{ 

sd{rf/Lx?nfO{ ;f]xL ;+:yfdf ;dfof]hg ug{ cg'/f]w ug]{ lg)f{o ul/G% . sfhdf uPsf sd{rf/Lx?sf] ljj/)f 

lgDg cg';f/ /x]sf] % . 

1_ ^]saxfb'/ l;+hfnL  vf=kf=;=^]= kf+rf}+ k|f= 

2_ lzjx/L kl)*t  vf=kf=;=^]= rf}yf] k|f= 

3_ k|]daxfb'/ #tL{  nf]*/ x]Nk/ t[tLo k|f= 

4_ b'St/fh >]i&  KnDa/ >])fL ljlxg 

5_ dfwj jfUn]  sfof{no ;xof]uL >])fL ljlxg 

6_ ch'{g x*\vn]  sfof{no ;xof]uL >])fL ljlxg 

;fy} pQm ;+:yfdf sfh v^fPsf] ldltb]lv Ps jif{;Dd / o; sfof{nodf /x+bf ;Ddsf] pNn]lvt sd{rf/Lx?n] 

lgodfg';f/ kfpg] ;a} ;'ljwf gu/kflnsfn] Joxf]g]{ / af+sL cjlwsf] vfg]kfgL tyf ;/;kmfO{ pkef]Qmf ;+:yf 

bdf}nLaf^} pknAw ug]{ u/fpg] lg)f{o ul/G% . 

lg)f{o g+=4M 50÷50 nfvsf 10 -bz_ j^f of]hgfx?sf] k|:tfj cfufdL a}&sdf k]z ug]{ lg)f{o ul/of] . 

lg)f{o g+=5M Jof; gu/kflnsf leq lgDg j*fx?sf] lgDg ;|f]t s]Gb| tf]Sg] lg)f{o ul/of] . 

1_ j*f g+=1, 2, 3, 4 / 5 lgd{n df=lj= 

2_ j*f g+=6, 7, 8, 9 / 10 Sofldg df=lj= sn]:tL 

3_ j*f g+=11, 12, 13 / 14 sdnjf/L 

;|f]t s]Gb|x?sf] sfo{qmd ;+rfng ubf{ ;DalGwt j*fsf j*fWoIfx?nfO{ ;d]t ;dfj]z u/fP/ sfo{qmd ;+rfng 

ug{ lgb]{zg lbg] lg)f{o ul/of] . 

lg)f{o g+=6M cf=j=2074.075 sf] ah]^ sfo{qmddf k/]sf] sfof{nosf nflu cfjZos 6 -%_ j^f df]^/;fOsn 

vl/b ug]{ k|s[of cufl* a(fpg] lg)f{o ul/of] . 

lg)f{o g+=7M cf=j=074.75 sf nflu lj!fkg s/ p&fpg &]Ssf nufpgsf nflu ul/Psf] ;"rgf adf]lhd 

af]nkq d"Nof+sg ;ldltåf/f l;kmfl/; eO{ cfPsf] >L cfs[lt P*\e/^fOlhª lj/f^gu/ df]/ªsf] b/efpkq 

:jLs[t ug]{ lg)f{o ul/of] . 

lg)f{o g+=8M gu/;efaf^ kfl/t ah]^, gLlt tyf sfo{qmd Pj+ gu/;efaf^ k|Tofof]lht clwsf/ adf]lhd s'n 

ah]^ ?=80,71,77,000. sf] cf=j=2074.075 sf] ah]^nfO{ lgDgfg';f/ ljleGg of]hgf Pj+ zLif{sx?df 

ljlgof]hg ug]{ lg)f{o ul/of] . 

 

 

 



 

 

cf=j=2074.075 sf] rfn' Pj+ k'+hLut vr{sf] Joo cg'dfg ljj/)f 

vr{ ;+s]t vr{sf zLif{sx? 
j*f 

g+= 

cf=j=074.75 

sf] cg'dfg 

>f]t 

cfGtl/s 
g]kfn ;/sf/ 

k|=; C)f hg;xeflutf 
;dfgLs/)f ;zt{ cGo 

1= rfn' vr{                     

1=1 kbflwsf/Lx?s]f kfl/>lds tyf ;'ljwf                   

1=1=1 hgk|ltlglw kfl/>lds                   

1=1=2 ;ldlt a}&s eQf   
2,400,000.00 

2,400,000.0

0             

1=1=3 hgk|ltlglw b}lgs e|d)f eQf   500,000.00 500,000.00             

2=1 sd{rf/L kfl/>lds tyf ;'ljwf                   

2=1=1 g=kf=sd{rf/L tna   34,062,400.00 18,167,600.0 15,894,800.0           

2=1=2 g=kf=sd{rf/L ;+lrt labf, pkrf/ vr{   2,000,000.00 2,000,000.00             

2=1=3 g=kf=sd{rf/L dx+uL eQf   1,446,000.00 1,446,000.00             

2=1=4 g=kf=sd{rf/L kl/jxg eQf   218,400.00 218,400.00             

2=1=5 g=kf=sd{rf/L kf]zfs eQf   765,000.00 765,000.00             

2=1=6 g=kf=sd{rf/L b}lgs e|d)f eQf   1,000,000.00 1,000,000.00             

2=1=7 g=kf=sd{rf/L sNof)f sf]if   3,500,000.00 3,500,000.00             

2=1=8 sd{rf/L uf]N*]g x]G*;]s   
10,000,000.00   

10,000,000.0

0           

2=2=1 sd{rf/L tna eQf   32,817,000.00     32,817,000.00         

2=2=2 # ju{   1,000,000.00     1,000,000.00         

2=2=3 dx+uL eQf   972,000.00     972,000.00         

2=2=4 cGo :jf:YosdL{sf] lkm* eQf   110,000.00     110,000.00         

2=2=5 cGo eQf   731,000.00     731,000.00         

2=2=6 sd{rf/Lx?sf] kf]zfs eQf   668,000.00     668,000.00         

2=2=7 kfn], sf=;=;]jf s/f/ sd{rf/L tna   1,796,000.00     1,796,000.00         

2=2=8 c=g=dL= ;]jf s/f/ tna   532,000.00     532,000.00         

2=2=9 s[lif  k|fljlws tna / kf]zfs   320,000.00     320,000.00         

2=2=10 lzIfs tna / k|zf;lgs vr{   
171,976,000.0

0     

171,976,000.0

0         

2=2=11 df=lj=lzIfs tna / k|zf;lgs vr{   38,678,000.00     38,678,000.00         

2=2=12 ;?jf e|d)f vr{ / b}lgs eQf   50,000.00     50,000.00         

2=2=13 Ps ufp+ 1 k|fljlws   296,000.00     296,000.00         

3=1 sfof{no ;+rfng ;DaGwL vr{                   

3=1=1 g=kf=tkm{ ;]jf tyf sfof{no ;+rfng                   

3=1=1=1 wf/f ljh'nL   600,000.00 600,000.00             

3=1=1=2 ]̂lnkmf]g   500,000.00 500,000.00             

3=1=1=3 ;]jf cGo   1,600,000.00 1,600,000.00             

3=1=1=4 :^]zg/L   1,100,000.00 1,100,000.00             



3=1=1=5 %kfO{   1,500,000.00 1,500,000.00             

3=1=2 g=kf= ef*f   1,170,000.00 1,170,000.00             

3=1=3 g=kf= kq klqsf k':ts   100,000.00 100,000.00             

3=1=4 g=kf= vKg] dfn;fdfg   600,000.00 600,000.00             

3=1=5 kfgL tyf ljh'nL   200,000.00     200,000.00         

3=1=6 kfgL tyf ljh'nL dxz'n   96,000.00     96,000.00         

3=1=7 OGwg cGo k|of]hg   45,000.00     45,000.00         

3=1=8 ;+rf/ dxz'n   162,000.00     162,000.00         

3=1=9 lgoldt sfof{nosf] ljljw vr{   100,000.00     100,000.00         

3=1=10 #/ ef*f   152,000.00     152,000.00         

3=1=11 sfof{nosf nflu OGwg   129,000.00     129,000.00         

3=1=12 ;+rfng tyf dd{t ;Def/   105,000.00     105,000.00         

3=1=13 sfof{no d;nGb ;fdfg   200,000.00     200,000.00         

3=1=14 sfofno ;+rfng vr{   4,000.00     4,000.00         

4=1 dd{t ;Def/ vr{                   

4=1=1 g=kf= ;jf/L ;fwg dd{t ;Def/   2,500,000.00 2,500,000.00             

4=1=2 g=kf= ;jf/L ;fwg OGwg   3,000,000.00 3,000,000.00             

5=1 sfo{qmd vr{                   

5=1=1 tflnd, uf]i&L, ;]ldgf/   3,000,000.00   3,000,000.00           

5=1=2 ;zt{ cg'bfg tkm{   19,204,000.00     19,204,000.00         

5=1=3 ljQLo ;dfgLs/)f cg'bfg tkm{                   

3=1=3=1 lbbLa}gL s[lif ;d"xnfO{ s[lif l;+rfO{ sfo{qmd 1 200,000.00   200,000.00           

3=1=3=2 
afn clwsf/ Pj+ g]t[Tj ljsf; ;DaGwL tflnd 

/ v]n ;fdu|L 
1 

200,000.00   200,000.00           

3=1=3=3 h]i& gful/s lbjf ;]jf s]Gb| cfjZos ;fdu|L 1 50,000.00   50,000.00           

3=1=3=4 
s[lif tyf hl*a'l^ ;DaGwL cWoog cjnf]sg 

e|d)f 
2 

200,000.00   200,000.00           

3=1=3=5 afn >d / afn lx+;f ;DaGwL ;*s gf^s  2 100,000.00   100,000.00           

3=1=3=6 
afnaflnsfsf] zfl//Ls / dfgl;s ljsf; 

sfo{qmd 
2 

100,000.00   100,000.00           

3=1=3=7 
dlxnfx?nfO{ ;r]tgf tflnd / l;kd"nsdf 

sk*f / sfuhsf] emf]nf agfpg] tflnd 
2 

200,000.00   200,000.00           

3=1=3=8 
l;$fy{ / Go'/f]* ^f]n ljsf; ;+:yfnfO{ gd'gf 

;/;kmfO{ If]q #f]if)ffsf nflu *l:jg ljt/)f 
2 

200,000.00   200,000.00           

3=1=3=9 
afnaflnsfsf] nfuL lgz"Ns :jf:Yo lzlj/ tyf 

a]b Aof; jfnd~rsf] afnd}qL k":tsfno 
3 

130,000.00   100,000.00           30,000.00  

3=1=3=10 nlIftau{ cGt{utsf] sfo{qmd 3 350,000.00   350,000.00           

3=1=3=11 hgr]tgfd"ns sfo{qmd ;+rfng  4 100,000.00   100,000.00           

3=1=3=12 nlIft ju{nfO{ dfusf] cfwf/df 4 400,000.00   400,000.00           

3=1=3=13 dlxnf, afnaflnsf cGo nlIft ;d'x 5 500,000.00   500,000.00           

3=1=3=14 o'jf :j/f]huf/ l;k Ifdtf ljsf; sfo{qmd 5 200,000.00   200,000.00           

3=1=3=15 nlIft ju{sf sfo{qmdx? 6 500,000.00   500,000.00           

3=1=3=16 s[lif tyf kz' sfo{qmd 7 500,000.00   500,000.00           

3=1=3=17 %fkyf]s ko{^g k|j${g sfo{qmd 7 100,000.00   100,000.00           



3=1=3=18 :jf:Yo sfo{qmd 7 100,000.00   100,000.00           

3=1=3=19 nlIft ju{sf sfo{qmd 7 500,000.00   500,000.00           

3=1=3=20 s[lifsf] ljljw sfo{qmd 8 800,000.00   800,000.00           

3=1=3=21 l/:tL :jf:Yorf}sL k'lnd/fª 8 10,000.00   10,000.00           

3=1=3=22 l/:tL :jf:Yorf}sL 2 8 15,000.00   15,000.00           

3=1=3=23 dlxnf :jf:Yo :jo+;]ljsf vfhf / oftfoft 8 50,000.00   50,000.00           

3=1=3=24 
nlIft sfo{qmd -blnt, hghflt / dlxnf, ckf+u 

cflb_ 
8 

500,000.00   500,000.00           

3=1=3=25 k")f{ ;/;kmfO{ sfo{qmd ;+rfng 8 200,000.00   200,000.00           

3=1=3=26 
j*fdf ljleGg ljljw km'^s/ s[lif ;DaGwL 

sfo{qmd 
9 

1,000,000.00   1,000,000.00           

3=1=3=27 hf}jf/Ldf xf]d:^] ;+rfng 9 200,000.00   200,000.00           

3=1=3=28 dlxnf l;kd"ns Pj+ cfo cfh{g tflnd 9 150,000.00   150,000.00           

3=1=3=29 nlIftju{-jfnjflnsf dlxnf, blnt,hghftL ;d]t_ 10 500,000.00   500,000.00           

3=1=3=30 cd/ l;+x df=lj= afn lxt sfo{qmd 11 50,000.00   50,000.00           

3=1=3=31 afnlxt sfo{qmd tyf ef}lts ;fdu|L 11 100,000.00   100,000.00           

3=1=3=32 dlxnf cfo cfh{g sfo{qmd 11 100,000.00   100,000.00           

3=1=3=33 hghflt cfo cfh{g sfo{qmd 11 100,000.00   100,000.00           

3=1=3=34 ckf+u lxt sfo{qmd 11 50,000.00   50,000.00           

3=1=3=35 blnt lxt ;DaGwL sfo{qmd 11 100,000.00   100,000.00           

3=1=3=36 k")f{ ;/;kmfO{ sfo{qmd -vfg]kfgL ;/;kmfO{ ;d]t_ 11 447,420.00   447,420.00           

3=1=3=37 
:jf:Yo ;+:yf cg'bfg -sf=;= tna, :jo;]ljsf 

eQf_ 
12 

160,000.00   160,000.00           

3=1=3=38 nlIft ju{sf sfo{qmdx? 12 500,000.00   500,000.00           

3=1=3=39 dlxnf ;~hfn 12 300,000.00   300,000.00           

3=1=3=40 d]nldnfkstf{ tflnd 12 50,000.00   50,000.00           

3=1=3=41 ljBfnodf %fqa[lQ sf]ifsf] Joj:yf x'g'kg]{ 13 100,000.00   100,000.00           

3=1=3=42 
kf]v/L eGHofé :jf:Yorf}sL k')f{vf]k sfo{qmd 

lg/Gt/tf 
13 

100,000.00   100,000.00           

3=1=3=43 
afnaflnsfx?sf] ;f+:s[lts sfo{qmdsf] nflu *«];, 

afhf / uxgf 
13 

100,000.00   100,000.00           

3=1=3=44 
afnaflnsfx?nfO{ afn clwsf/ / g]t[Tj 

ljsf;sf ;fy} v]n ;fdu|L 
13 

100,000.00   100,000.00           

3=1=3=45 
sf]^yf]s ^f]n cGtu{t /fgLj]n o'jf Sna 

jftfj/)fd}qL sfo{qmd 
13 

50,000.00   50,000.00           

3=1=3=46 xf]d:^] tflnd ;+rfng 14 100,000.00   100,000.00           

3=1=3=47 nlIft ju{sf sfo{qmdx? -dfusf] cfwf/df_ 14 500,000.00   500,000.00           

3=1=3=48 ljkb Joj:yfkg tyf hu]*f sf]if 14 450,000.00   450,000.00           

3=1=3=49 
;fd'lxs s[lif pTkfbg pBdzLntf Pj+ cfo 

cfh{g -o'jf nlIft_ 
  

7,000,000.00   7,000,000.00           

3=1=3=50 s[lif ljsf; zfvf   5,981,000.00   5,981,000.00           

3=1=3=51 
ko{^g Joj:yfkg Pj+ ;'b[(Ls/)f sfo{qmd -

xf]d:^]_ 
  

500,000.00   500,000.00           

3=1=3=52 kz'kIfL zfvf   5,715,000.00   5,715,000.00           



3=1=3=53 
:jf:Yo ;DaGwL sfo{qmd -#'DtL :jf:Yo Pj+ 

lzlj/ ;+rfng_ 
  

500,000.00   500,000.00           

3=1=3=54 cfo'j]{b :jf:Yo zfvf   1,480,000.00   1,480,000.00           

3=1=3=55 ;floTo, snf, ;+:s[lt ;+/If)f sfo{qmd   500,000.00   500,000.00           

3=1=3=56 
gu/:t/Lo v]ns'b Joj:yfkg -km'^jn, elnjn, 

Dof/fy'g_ 
  

1,500,000.00   1,500,000.00           

3=1=3=57 afnd}qL sfo{qmd   700,000.00   700,000.00           

3=1=3=58 
n}+lus ;dtf Pj+ ;fdflhs ;dfj]zL -dlxnf_ 

sfo{qmd 
  

700,000.00   700,000.00           

3=1=3=59 blnt Pj+ l;dfGts[t ju{ ;zlQms/)f sfo{qmd   500,000.00   500,000.00           

3=1=3=60 ckf+ud}qL sfo{qmd   500,000.00   500,000.00           

3=1=3=61 o'jf nlIft b"Jo{;gL Go'lgs/)f ;r]tgf sfo{qmd   200,000.00   200,000.00           

3=1=3=62 dlxnf tyf aflnaflnsf zfvf   2,529,000.00   2,529,000.00           

3=1=3=63 l;+rfO{ ljsf; zfvf   2,572,200.00   2,572,200.00           

3=1=3=64 jg jftfj/)f zfvf   2,195,000.00   2,195,000.00           

3=1=3=65 jftfj/)fd}qL sfo{qmd   3,000,000.00   3,000,000.00           

3=1=3=66 ;fj{hlgs hUuf ;+/If)f Pj+ k'ggf{kL sfo{qmd   2,000,000.00   2,000,000.00           

3=1=3=67 ljkb Pj+ k|sf]k Joj:yfkg sf]if   1,000,000.00   1,000,000.00           

3=1=3=68 cWoog cjnf]sg e|d)f   700,000.00   700,000.00           

3=1=3=69 ;+# ;+:yf sfo{qmd -;dGjo_   300,000.00   300,000.00           

3=1=3=70 ;fj{hlgs lghL ;fem]bf/L sfo{qmd   200,000.00   200,000.00           

6=1 k/fdz{ tyf cGo ;]jf z'Ns                   

7=1 cg'udg, d"Nof+sg tyf e|d)f                   

8=1 g=kf= C)fsf] Jofh e'StfgL   5,000,000.00 5,000,000.00             

9=1 ljljw vr{                   

9=1=1 ljljw -hnkfg,rf*kj{,n]vfk/LIf)f,>]:tf_   2,150,000.00 2,150,000.00             

9=1=2 e}kl/ -cGo,#/ lg=;f=, /f=lbj;_   4,540,000.00 4,540,000.0             

9=1=3 gu/ ;ef ;+rfng   1,000,000.00 1,000,000.00             

9=1=4 j*f Joj:yfkg   3,400,000.00 3,400,000.00             

9=1=5 c;xfo tyf /fxt sf]if   1,000,000.00 1,000,000.00             

9=1=6 ;b:otf z'Ns   200,000.00 200,000.00             

9=1=7 k'/:sf/   200,000.00 200,000.00             

9=1=8 cfo tyf cfGtl/s ;fk^L lkmtf{   200,000.00 200,000.00             

  rfn' vr{sf] hDdf   411,379,420.0 60,357,000.0 80,649,420.0 270,343,000.0       30,000.00 

2= k'¤hLut vr{                    

1=1 hUuf vl/b                   

2=1 ejg lgdf{)f                   

2=1=1 lzIff tkm{sf] ejg lgdf{)f   42,440,000.0     42,440,000.0         

2=1=2=1 sfof{no ax'p@]ZoLo ejg lgdf{)f   82,879,000.00   2,845,000.00   8,534,000.0   71,500,000.0   

3=1 kmlg{r/   2,000,000.00   2,000,000.00           

4=1 ;jf/L ;fwg                   

4=1=1 uf*L vl/b   4,000,000.00 4,000,000.0             

4=1=2 \̂ofS^/ vl/b   1,800,000.00 1,800,000.00             

4=1=3 df]^/;fOsn vl/b   1,500,000.00 1,200,000.00 300,000.00           



4=1=4 #/ gDa/ Kn]̂  d]=&]=k|=   2,000,000.00   2,000,000.00           

5=1 d]lzg/L cf}hf/ -Nofk^, sDKo'^/ nufot_   1,000,000.00 500,000.00 500,000.00           

6=1 ;fj{hlgs lgdf{)f                   

6=1=1 
gjcfbz{ ^f]nsf] k'/fgf] %fAbL dfu{ sfnf]kq] 

1 
1,300,000.00   1,000,000.00         

  

300,000.00  

6=1=2 hnb]jL df=lj=df= sDkfp)*jfn lgdf{)f 1 1,040,000.00   800,000.00          240,000.00  

6=1=3 
dfOnL*f+*f ;*s sfnf]kq]] 

1 
1,300,000.00   1,000,000.00         

  

300,000.00  

6=1=4 
lgd{n df=lj=df k':tsfno Joj:yfkg ef}lts 

k"jf{wf/ ;d]t 
1 

600,000.00   500,000.00         

  

100,000.00  

6=1=5 
b/} ejgsf] %fgfdf l;lnª lgdf{)f 

1 
600,000.00   500,000.00         

  

100,000.00  

6=1=6 xfO:s'n^f/sf] u'?ª j:tLdf kSsL gfnf lgdf{)f 1 700,000.00   500,000.00          200,000.00  

6=1=7 lj!fgrf}/df s[ofk'qL ejg lgdf{)f 1 200,000.00   200,000.00           

6=1=8 xfphLª glhs s[ofkqL ejg lgdf{)f 1 100,000.00   100,000.00           

6=1=9 xfphLª glhs gfnf dd{t 1 100,000.00   100,000.00           

6=1=10 
cd|]gL ^f]ndf lqzlQm lzjfno dlGb/ / 

;fd'bflos ejg lgdf{)f 
1 

300,000.00   300,000.00           

6=1=11 
z'e/fh kGysf] #/af^ xfphLª hfg] af^f]df 

Uofljgjfn lgdf{)f 
1 

300,000.00   300,000.00           

6=1=12 csnf dlGb/ kl/;/df tf/jf/ Pj+ kfs{ lgdf{)f 1 200,000.00   200,000.00           

6=1=13 xfO:s'n^f/ lnkm\̂  vfg]kfgL lj:tf/ 1 100,000.00   100,000.00           

6=1=14 
cd|]gL, d';]vf]nf,eb|' rf/s'g] l/ª/f]* lgdf{)f / 

:t/f]Gglt 
1 

1,000,000.00   1,000,000.00           

6=1=15 
vsf}nL vfg]kfgL +̂sL / b/} ;dfh ejg hfg] 

l;+(L af^f] lgdf{)F 
1 

200,000.00   200,000.00           

6=1=16 v]n d}bfg lgdf{)f 1 200,000.00   200,000.00           

6=1=17 l;h{gf cfdf ;d"xsf] ejg lgdf{)F 1 100,000.00   100,000.00           

6=1=18 
s/+sf& nfnL u'/f+; cfdf ;d"xsf] lzjfno 

dlGb/ lgdf{)f 
1 

100,000.00   100,000.00           

6=1=19 
s'G%fnL ^f]nsf] ;fd'bflos ejg Pj+ afn ljsf; 

s]Gb|sf] ef}lts k"jf{wf/ lj:tf/ 
1 

200,000.00   200,000.00           

6=1=20 
a'$bfxfn ljBfnodf alx/fx?sf nflu kfs{ 

lgdf{)F 
1 

100,000.00   100,000.00           

6=1=21 du/ ;dfh ejg lgdf{)f 1 100,000.00   100,000.00           

6=1=22 
cd|]gL vfg]kfgL of]hgf l/h/jfo/ +̂sL lgdf{)f / 

kfOk nfOg lj:tf/ 
1 

500,000.00   500,000.00           

6=1=23 tfn#/] ax'p@]ZoLo ejg lgdf{)f 1 350,000.00   350,000.00           

6=1=24 s'G%fnL ^f]n x'+b} df]xf]l/of^f/ ;*s :t/f]Gglt 1 150,000.00   150,000.00           

6=1=25 

b/} ;dfh ejg hfg] 30 km'^] sRrL gfnf 

;lxtsf] gof+ af^f] vf]Ng] / ld> kmlg{r/af^ 

j*f g+=13 hfg] af^f]sf] :t/f]Gglt 

1 

200,000.00   200,000.00           

6=1=26 
%fAbL dfu{af^ eujfg If]qLsf] #/ x'+b} eb|' hfg] 

af^f] / vsf}nLsf] ;*s :t/f]Gglt 
1 

200,000.00   200,000.00           

6=1=27 uNj'j]zL, c*dkfgL, &"nf]ufp+, /tf}nLsf] ;*s 1 300,000.00   300,000.00           



:t/f]Gglt 

6=1=28 cfbz{ ;dfhsf] ejg lgdf{)f 1 100,000.00   100,000.00           

6=1=29 ljljw km'^s/ of]hgf k"jf{wf/ lgdf{)f 1 150,000.00   150,000.00           

6=1=30 
l;$fy{ ^f]nsf] rf]sdf l;$fy{sf] d"lt{ ;lxt 

kfgLsf] kmf]xf]/f lgdf{)f 
2 

200,000.00   200,000.00           

6=1=31 afndlGb/ :s'n sDkfp)* ug]{ 2 200,000.00   200,000.00           

6=1=32 ;]tf]u'/f+; afn ljsf; ejg dd{t 2 100,000.00   100,000.00           

6=1=33 hg;]jf k|f=lj=df afn ljsf; s]Gb|nfO{ kmlg{r/ 2 50,000.00   50,000.00           

6=1=34 
a'NbL vf]nf glhs /x]sf] blnt u'&Lsf] dlGb/ 

j/kl/ sDkfp)* 
2 

100,000.00   100,000.00           

6=1=35 
afuahf/ ^f]nsf] hghflt cGtu{t kg]{ ;fj{hlgs 

hUuf ;+/If)f 
2 

150,000.00   150,000.00           

6=1=36 
pQ/zLnf ^f]nsf] lgdf{)ffwLg dlGb/ ;DkGg 

ug'{kg]{ 
2 

100,000.00   100,000.00           

6=1=37 
nIdL ^f]n ljsf; ;+:yfsf] d'Vo rf]sdf nIdLsf] 

d"lt{ ;lxt #)^f #/ 
2 

700,000.00   500,000.00          200,000.00  

6=1=38 

gjhfu/)f ^f]n ljsf; ;+:yf cGtu{t /x]sf] 

sNkgf uf}nLsf] #/b]lv nfnaxfb'/ yfkfsf] 

#/;Dd lk=l;=;L= 

2 

840,000.00   600,000.00          240,000.00  

6=1=39 
afuahf/ ^f]n cGtu{t h'gs'df/ >]i&sf] #/b]lv 

cg'/fusf] #/;Dd lkr 
2 

1,960,000.00   1,400,000.00         

  

560,000.00  

6=1=40 pQ/zLnf xnaf^ hg;]jf k|f=lj=;Dd lkr 2 800,000.00   800,000.00           

6=1=41 nIdL ^f]naf^ u)f]zdfg rf]s lg:sg] af^f] lkr 2 200,000.00   200,000.00           

6=1=42 
sflnsf dfu{sf] k[YjL /fhdfu{af^ Go"/f]* 

^f]n;Dd gfnf :t/f]Gglt u/L l/;f]n lkr 
2 

800,000.00   800,000.00           

6=1=43 
ljBfyL{ k':ts k;naf^ uf]bf/sf] #/;Dd gfnf 

lgdf{)f 
2 

200,000.00   200,000.00           

6=1=44 
dfn]au/ ^f]nsf] gfnfdf se/:Nofj / dGh' 

kmlg{r/b]lv s[i)f ?rfnsf] #/;Dd kSsL gfnf 
2 

600,000.00   600,000.00           

6=1=45 
k'Nrf]s k'nb]lv b]p/fnLgu/sf] af^f] /]vf+sg u/L 

u|fe]n 
2 

200,000.00   200,000.00           

6=1=46 j*f leqsf gfnfdf :Nofj / gfnf ;kmfO{ 2 300,000.00   300,000.00           

6=1=47 hg;]jf k|f=lj=sf] b'#{^gf If]qdf tf/hfnL 2 150,000.00   150,000.00           

6=1=48 
dfn]au/ nufot cGo :yfgdf a'NbL vf]nf 

t^aGwg 
2 

600,000.00   600,000.00           

6=1=49 
/fdgfy l/dfnsf] #/b]lv cd//fh s}gLsf] 

#/;Ddsf] gfnf lgdf{)F 
2 

600,000.00   600,000.00           

6=1=50 
bdf}nL ^f]n x'+b} hghfu[lt ^f]nsf] s[i)faxfb'/sf] 

#/;Dd l/;f]n lkr ug]{ 
2 

400,000.00   400,000.00           

6=1=51 Jof; af]l*{ª hfg] af^f] /]vf+sg u/L u|fe]n 2 150,000.00   150,000.00           

6=1=52 lgdf{)ffwLg /x]sf] j*f sfof{no ejg ;DkGg 2 600,000.00   600,000.00           

6=1=53 afn dlGb/ df=lj= sDkfp)* lgdf{)f 2 200,000.00   200,000.00           

6=1=54 
zflGtgu/df gfnf lgdf+)f of]hgf 

3 
1,300,000.00   1,000,000.00         

  

300,000.00  

6=1=55 zflGt gu/ zfvf gfnf lgdf+)f  3 390,000.00   300,000.00           90,000.00  



of]hgf s 

6=1=56 
zflGt gu/ zfvf gfnf lgdf+)f  

of]hgf v 
3 

390,000.00   300,000.00           90,000.00  

6=1=57 
b]p/fnLgu/ /]*qm; nfO{g gfnf lgdf{)f 

tyf 16 km"^] af^f] u|fjn of]hgf 
3 

515,000.00   500,000.00         

   

15,000.00  

6=1=58 
b]p/fnLgu/sf] ;ldk sfi& pBf]ub]vL k"nrf]s 

´f]n"ª]k"n  ;Dd sfnf]kq] tyf gfnf lgd{f)f 
3 

1,300,000.00   1,000,000.00         

  

300,000.00  

6=1=59 
k"Nrf]s vfg]kfgL of]hgf Ogf/ dd{t tyf kfgLsf] 

d"xfg lgdf{)f 
3 

65,000.00   50,000.00         

   

15,000.00  

6=1=60 
a"$kfs{^f]nsf] vfg]kfgL of]hgf ^+sL dd{t 

3 
65,000.00   50,000.00         

   

15,000.00  

6=1=61 
lk&f] lkGg] d]lzg vl/b tyf b]p/fnL gu/ ejg 

dd{t 
3 

130,000.00   100,000.00           30,000.00  

6=1=62 
dxlif{ ;+:s[t df=lj= k":tsfno tyf kmlg{r/  

3 
227,500.00   175,000.00         

   

52,500.00  

6=1=63 k"Nrf]s ^f]=lj= ;+:yfsf] ejg lgdf{{)f 3 195,000.00   150,000.00           45,000.00  

6=1=64 a'$kfs{ ^f]=lj= ;+:yfsf] ejg lgdf{)f 3 130,000.00   100,000.00           30,000.00  

6=1=65 ;[hgf ^f]n cGt{ut klx/f] lgoGq)f 3 650,000.00   500,000.00           150,000.00  

6=1=66 zflGtgu/sf] cw"/f] ;fd'bflos ejg lgdf{)F 3 260,000.00   200,000.00           60,000.00  

6=1=67 cg;grf]s sfnf]kq] lj:tf/, ("+ªf lj%\ofpg] 3 1,950,000.00   1,500,000.00          450,000.00  

6=1=68 
k[YjL /fhdf{ub]lv t/sf/L nfOg x'+b} bdf}nL 

c:ktfn;Dd af^f] sfnf]kq] / :t/f]Gglt 
3 

1,950,000.00   1,500,000.00          450,000.00  

6=1=69 
bdf}nL ahf/ rf}}s"gf sfnf]kq] 

3 
722,500.00   625,000.00         

   

97,500.00  

6=1=70 kfgLsf] kmf]xf]/f /+u/f]ug 3 130,000.00   100,000.00           30,000.00  

6=1=71 ;f]nf/ aQL h*fg 3 650,000.00   500,000.00           150,000.00  

6=1=72 jn]wf/f vfg]kfgL dd{t tyf ;+/If)f 3 130,000.00   100,000.00           30,000.00  

6=1=73 j*f sfof{no ejg lgdf{)f 3 625,000.00   625,000.00           

6=1=74 
lzj kf~rfog lg=df=lj= kmlg{r/ lgdf{)f 

3 
227,500.00   175,000.00         

   

52,500.00  

6=1=75 j]bJof; rf+bgL cfdf ;d"x ejg lgdf{)F 4 100,000.00   100,000.00           

6=1=76 
r'/]vf]N;L ^f]n cGtu{t u'/f+; cfdf ;d'x ejg 

lgdf{)f 
4 

480,000.00   400,000.00           80,000.00  

6=1=77 
dbz{f k|f=lj= /+u/f]ug, Knfi^/ / clkm; sf]&f 

kmlg{l;ª 
4 

200,000.00   200,000.00           

6=1=78 
j]bJof; k|f=lj= dd{t, v]n ;fdu|L / kmlg{r/ 

lgdf{)f 
4 

150,000.00   150,000.00           

6=1=79 
dbzf{ cGh'dg sld^L cw'/f] ejg lgdf{)f -

(nfg_ 
4 

350,000.00   350,000.00           

6=1=80 j*f sfof{no ejg lgdf{)f 4 500,000.00   500,000.00           

6=1=81 hnb]jL s cGtu{t ;'ne dfu{ lk=l;=l;= 4 200,000.00   200,000.00           

6=1=82 
gd'gf ^f]nsf] Zofd du|ftLsf] #/b]lv 

rGb|sfGtsf] #/;Dd lk=l;=l;= 
4 

200,000.00   200,000.00           

6=1=83 
hnb]jL v cGtu{t ljZj dfu{ / dw' dfu{df 

lk=l;=l;= 
4 

200,000.00   200,000.00           



6=1=84 

Jof; dfu{ cGtu{t ledaxfb"/ b/}sf] #/b]lv 

lgdf{)fflwg gof+ a"lNbk"n;Dd kSsL gfnf / 

;*s sfnf]kq]  

4 

2,800,000.00   2,000,000.00          800,000.00  

6=1=85 
;Dk")F{ ^f]nx?sf] sRrL af^f]x?nfO{ oftfoft 

;"rf? ?kn] ;+rfng ug{ u|fj]n  
4 

500,000.00   500,000.00           

6=1=86 
gfnf lgdf{)f ePsf ^f]nx?df k'/fgf] gfnf 

;/;kmfO{ 
4 

200,000.00   200,000.00           

6=1=87 

?K;L xf]^nb]lv k')f{ axfb"/ b/}sf] #/ ;Ddsf] 

&f*f] gfnLnfO{ Jojl:yt / km/flsnf] kf/L 

bfof+jfof+ lk=l;=l;= 

4 

700,000.00   500,000.00          200,000.00  

6=1=88 

ljdnf b/}sf] #/b]lv klZrd dl:ht;Ddsf] t];|f] 

gfnf dd{t / dl:hbb]lv ;"j)f{ dfu{sf] rf]s;Dd 

hnb]lj dlGb/ cuf*L pQ/tkm{sf] gfnf 

:t/pGglt ;lxt se/ :Nofj / blIf)ftkm{ gof+ 

gfnf lgdf{)f  

4 

1,400,000.00   1,000,000.00          400,000.00  

6=1=89 
ldng dfu{{ cfzf sfsL{sf] #/b]lv hnb]lj 

dfu{;Dd lk=l;=l;=  
4 

490,000.00   350,000.00          140,000.00  

6=1=90 

;f+v/ ^f]n cGtu{t zfGtL dfu{df /x]sf] cw"/f] 

lk=l;=l;= k"/f ug]{ / dbzf{ :s"n hfg] l;+(L 

af^f] lgdf{)f  

4 

350,000.00   250,000.00         

  

100,000.00  

6=1=91 

zDe" >]i&sf] #/b]lv k|]dj+z cfrfo{sf] #/ 

;Ddsf] sl/j 80 ld= nfdf] af^f]df kSsL gfnf 

lgdf{)f  

4 

560,000.00   400,000.00           160,000.00  

6=1=92 

>Ls[i)f ljh"S%]sf] #/b]lv k'j{ ef]haxfb"/ yfkfsf] 

#/;Dd / pQ/tkm{ /fdaxfb"/ u"?ésf] #/;Dd 

sl/j 70 ld= lk=l;=l;=  

4 

420,000.00   300,000.00           120,000.00  

6=1=93 
k|df]b Gof}kfg]sf] #/b]lv ;s"Gtnf /fgfsf] #/;Dd 

lk=l;=l;= 
4 

420,000.00   300,000.00           120,000.00  

6=1=94 

zfnLs/fd lu/Lsf] #/b]lv k'j{ lrhs"df/ >]i& / 

klZrdtkm{ lji)f" >]i&sf] #/;Dd 85 ld= 

lk=l;=l;=  

4 

420,000.00   300,000.00           120,000.00  

6=1=95 
wd{lj/ kf}*]nsf] #/b]lv rGb|snf b"/fsf] #/;Dd 

lk=l;=l;=  
4 

420,000.00   300,000.00           120,000.00  

6=1=96 ;f+v/ ^f]n cGtu{t !fg dfu{df lk=l;=l;= 4 420,000.00   300,000.00           120,000.00  

6=1=97 
h'*]kfgL ^f]nsf] lemNs] dfu{df gfnf lgdf{)f tyf 

u|fe]n 
4 

700,000.00   500,000.00          200,000.00  

6=1=98 bfxf;+:sf/ ug]{ #f^ lgdf{)f 5 1,000,000.00   1,000,000.00           

6=1=99 gfukw]/L vfg]kfgL lj:tf/ 5 700,000.00   700,000.00           

6=1=100 ;f}/f If]qdf vfg]kfgL of]hgf ;+rfng 5 500,000.00   500,000.00           

6=1=101 kf^g ^f]nsf] c'w/f] gfnf lgdf{)f 5 500,000.00   500,000.00           

6=1=102 j]t]gL ^f]ndf /x]sf] vfg]kfgL / ;fd'bflos ejg 5 200,000.00   200,000.00           

6=1=103 j*f sfof{nodf l;=l;= Sofd/f h*fg 5 100,000.00   100,000.00           

6=1=104 
cflbjf;L hghfltsf] snf ;+:s[lt, efiff 

l/ltl/jfh ;+/If)fsf nflu du/ ;+u|fno lgdf{)f 
5 

500,000.00   500,000.00           

6=1=105 le/kfgL s'jf vfg]kfgL of]hgf 5 250,000.00   250,000.00           



6=1=106 

s '̂jfb]lv ^\ofDsL*f+*f ^f]nsf] ;]jf If]q cGtu{t 

cn}+r] vf]nfdf lgld{t sNe {̂sf] bfofafof+ k'tnL 

kv]̂ ] uf/f] lgdf{)f 

5 

100,000.00   100,000.00           

6=1=107 (f]*]gLdf ;fd'bflos ejg lgdf{)f 5 300,000.00   300,000.00           

6=1=108 
k[YjL /fhdfu{ j}/fuL vf]N;Laf^ dfGxf} ko{^sLo 

k}bn dfu{ 
5 

500,000.00   500,000.00           

6=1=109 ehg ;+s[tg ejg lgdf{)f 5 500,000.00   500,000.00           

6=1=110 
sfp/fsf] km]b &'nf]^f/b]lv ;]/f;Ddsf] dfu{ 

:t/f]Gglt 
5 

300,000.00   300,000.00           

6=1=111 
l;Gw' dfu{sf] pbo df=lj= hfg] pbo dfu{ u|fe]n 

/ sRrL gfnf 
5 

300,000.00   300,000.00           

6=1=112 lkkn^f/L vfg]kfgL of]hgf 5 150,000.00   150,000.00           

6=1=113 %ltjg dfu{ u|fe]n / gfnf lgdf{)f 5 200,000.00   200,000.00           

6=1=114 kt]gLsf] cw'/f] b/} ejg lgdf{)f 5 200,000.00   200,000.00           

6=1=115 j]n^f]nf emg]{ cw'/f] l;(L af^f] lgdf{)f 5 50,000.00   50,000.00           

6=1=116 
l;Gw' dfu{af^ :jfdL rf}tf/f x'+b} u')ffbL 

vf]nf;Dd sRrL gfnf / u|fe]n 
5 

100,000.00   100,000.00           

6=1=117 
l;dnu}/faf^ k")f{ a= g]kfnLsf] k'/fgf] #/tn x'+b} 

&'nf]^f/ dfu{df hf]*\g] ;*s lgdf{)f 
5 

100,000.00   100,000.00           

6=1=118 l;Gw' cfdf ;d'xsf] cw'/f] ejg lgdf{)f 5 300,000.00   300,000.00           

6=1=119 
k[YjL /fhdfu{ k'nsf] d'vb]lv klZrd g=kf= 

l;dfgf;Dd xl/t k \̂̂ L lgdf{)f 
5 

100,000.00   100,000.00           

6=1=120 eu]/L l;+(L af^f] lgdf{)f 5 50,000.00   50,000.00           

6=1=121 If]qLufp+ l/ª/f]* lgdf{)f 5 200,000.00   200,000.00           

6=1=122 lrGt'^f/ /+uzfnf lgdf{)f 5 600,000.00   600,000.00           

6=1=123 xf*Lufp+ enfª] vf]N;L hf}jf/L vfg]kfgL lgdf{)F 5 100,000.00   100,000.00           

6=1=124 
ld>rf]saf^ ofDbL k|]daxfb'/ gfos If]qLsf] 

#/;Dd af^f] :t/f]Gglt 
5 

50,000.00   50,000.00           

6=1=125 zlxb snf dfu{ :t/f]Gglt 5 200,000.00   200,000.00           

6=1=126 lrGt'^/fsf] cw'/f] b/} ;dfh ejg lgdf{)f 5 200,000.00   200,000.00           

6=1=127 

a'l$axfb'/ b/}sf] #/af^ b/} ;dfh ejg x'+b}} 

lrGt'^f/ /+uzfnf ktn^f/ x'+b} z'qm cf=lj= x'+b} 

dfx]Gb| dfu{ hf]*\g] af^f] :t/f]Gglt 

5 

300,000.00   300,000.00           

6=1=128 cw'/f] df};'n] vfg]kfgL of]hgfsf] nflu kfOk 5 100,000.00   100,000.00           

6=1=129 ;]/fdf lgdf{)ffwLg s'dfn ;dfh ejgdf kmlg{r/ 5 50,000.00   50,000.00           

6=1=130 j/af]^df lgdf{)ffwLg ;fd'bflos ejg lgdf{)f 5 500,000.00   500,000.00           

6=1=131 
hgh'Qm zfxL df=lj= tf/hfnLaf^ sDkfp)* 

lgdf{)f 
5 

                

6=1=132 /fgL^f/Ldf af]l/é u/L vfg]kfgL of]hgf ;+rfng 5 100,000.00   100,000.00           

6=1=133 lzjfno dlGb/af^ kl)*ts'gf hf]*\g] gof+ ^\ofs 5 100,000.00   100,000.00           

6=1=134 :jf:Yorf}sL / j]naf]^ hfg] af^f] lgdf{)f 5 50,000.00   50,000.00           

6=1=135 kb\df k|f=lj= r'b]/df zf}rfno lgdf{)f 5 100,000.00   100,000.00           

6=1=136 r'+b]/ yfgLdfO{ dlGb/ lgdf{)F  5 150,000.00   150,000.00           

6=1=137 ;f+hf df]^/ dfu{ dd{t 6 70,000.00   70,000.00           



6=1=138 ah]gL vfg]kfgL gof+ +̂sL lgdf{)f 6 55,000.00   55,000.00           

6=1=139 /TgHof]lt cf=lj= kmlg{r/ lgdf{)f 6 50,000.00   50,000.00           

6=1=140 
kf]v/] *f+*f, z]v/ vf]nf tNnf] ;f+hf df]^/ dfu{ 

lgdf{)f 
6 

65,000.00   65,000.00           

6=1=141 
;f+bL eGHofªaf^ ;f+h u'?ª ufp+ hfg] df]^/ 

dfu{ lgdf{)f 
6 

50,000.00   50,000.00           

6=1=142 tNnf] ;f+hf x'+b} d]*fjf/L hfg] df]^/ af^f] lgdf{)f 6 50,000.00   50,000.00           

6=1=143 tNnf] ;f+hf tf]/Ljf/L vfg]kfgL lgdf{)f 6 50,000.00   50,000.00           

6=1=144 
d's')*] vf]nf au}+rf d/)f#f^ hfg] df]^/ dfu{ 

lgdf{)f 
6 

50,000.00   50,000.00           

6=1=145 cfo cfh{g cfdf ;d"x ejg lgdf{)F 6 50,000.00   50,000.00           

6=1=146 pGglt cfdf ;d'x ejg lgdf{)f 6 50,000.00   50,000.00           

6=1=147 s[lif ^g]n lgdf{)f 6 50,000.00   50,000.00           

6=1=148 d}/fd||L s'nf] dd{t 6 50,000.00   50,000.00           

6=1=149 la/f}^f s'nf] dd{t 6 50,000.00   50,000.00           

6=1=150 ;f+hf dfu{ x+b} P];]n'u}x|f df]^/ af^f] lgdf{)f 6 60,000.00   60,000.00           

6=1=151 cd/ cf=lj= &'nf] au}rf df]^/ af^f] lgdf{)f 6 50,000.00   50,000.00           

6=1=152 l;h{gzLn cfdf ;d'x ejg dd{t 6 50,000.00   50,000.00           

6=1=153 r)*L cfdf ;d'x ejg dd{t 6 50,000.00   50,000.00           

6=1=154 PSn]bf]efg d/)f#f^ df]^/ af^f] dd{t 6 50,000.00   50,000.00           

6=1=155 a'l$vf]nf tNnf] af^f] x'+b} af^f] lgdf{)f 6 50,000.00   50,000.00           

6=1=156 d';Lw'Dsf ;r]tgf s]Gb| hfg] df]^/ af^f] lgdf{)f 6 60,000.00   60,000.00           

6=1=157 ;fuaf/L v]n d}bfg lgdf{)f 6 50,000.00   50,000.00           

6=1=158 dx]Gb|Hof]lt df=lj= k|j]zåf/ lgdf{)f 6 100,000.00   100,000.00           

6=1=159 
af]l*ª dfu{b]lv vfN ]̂ bf]efg d/)f#f^ df]^/ 

af^f] lg= 
6 

50,000.00   50,000.00           

6=1=160 ;'Gtnfjf/L d'l'w'Dsf ;r]tgf s]Gb| ejg (nfg 6 50,000.00   50,000.00           

6=1=161 kf]v/] *f+*f ljl:dNnf db/;f dd{t 6 50,000.00   50,000.00           

6=1=162 hfd] dl:hb c/aL db/;f sDkfp)* lgdf{)F 6 50,000.00   50,000.00           

6=1=163 k'nkfgL vfg]kfgL lgdf{)f 6 50,000.00   50,000.00           

6=1=164 h'l*v]t s'nf] dd{t 6 50,000.00   50,000.00           

6=1=165 u}/LZjf+/fb]lv (f+* hfg] df]^/ af^f] 6 50,000.00   50,000.00           

6=1=166 d]naf] ]̂ kw]+/flg/ vf]nfdf sNe {̂ lgdf{)f 6 50,000.00   50,000.00           

6=1=167 afn ljsf; s]Gb| -cfbz{_ dd{t Pj+ ^«:^ lgdf{)f 6 65,000.00   65,000.00           

6=1=168 un]vfdsf]^ lkslgs «̂:^ lgdf{)f 6 100,000.00   100,000.00           

6=1=169 
l;dnkfgLb]lv dbLvf]nf km]bL;Dd df]^/ dfu{ 

lgdf{)f 
6 

100,000.00   100,000.00           

6=1=170 
rf:rf}tf/fb]lv cfxfn] x'+b} p= l;sjf/L df]^/ 

af^f] dd{t 
6 

50,000.00   50,000.00           

6=1=171 l;dnkfgL led;]g dlGb/ dd{t ;Def/ 6 50,000.00   50,000.00           

6=1=172 s[ofkfgL led;]g dlGb/ dd{t ;Def/ 6 50,000.00   50,000.00           

6=1=173 csnf cfdf ;d'x -xl^of_ ejg lgdf{)f 6 300,000.00   300,000.00           

6=1=174 dfx]Gb|L cf= ljBfno sDkfp)* lgdf{)f 6 50,000.00   50,000.00           

6=1=175 *f+*fsf] l*xL df]^/ dfu{ dd{t 6 50,000.00   50,000.00           



6=1=176 b'D;fbL aLrsf] s'nf] dd{t Pj+ kfOk vl/b 6 50,000.00   50,000.00           

6=1=177 d]nldnfk cfdf ;d"x kmlg{r/ vl/b 6 50,000.00   50,000.00           

6=1=178 h'l* &'nfv]t s'nf] dd{t 6 50,000.00   50,000.00           

6=1=179 
h'u]vf]N;Laf^ dfx]Gb|L cf= lj= hfg] df]^/ af^f] 

lj:tf/ 
6 

50,000.00   50,000.00           

6=1=180 z+s/ cf= ljBfno vfg]kfgL dd{t 6 50,000.00   50,000.00           

6=1=181 u*'n] u}x|L s'nf]df sNe^{ lgdf{)f 6 50,000.00   50,000.00           

6=1=182 ;/:jtL cfdf ;d'x ejg sDkfp)* / jfOl/ª 6 50,000.00   50,000.00           

6=1=183 cd|]gL cfdf ;d'x ejg dd{t 6 50,000.00   50,000.00           

6=1=184 
b]p/fnL cfdf ;d'x -;fd'bflos_ ejg zf}rfno 

lgdf{)f 
6 

50,000.00   50,000.00           

6=1=185 ;u/dfyf cfdf ;d"x ejg dd{t 6 50,000.00   50,000.00           

6=1=186 d'nfjf/L s'nf] dd{t 6 50,000.00   50,000.00           

6=1=187 j]nf}lt:jf/f tNnf] l;?jf/L s'nf] dd{t 6 50,000.00   50,000.00           

6=1=188 et]/L s'nf] dd{t 6 50,000.00   50,000.00           

6=1=189 cfD^f/L s'nf] dd{t 6 50,000.00   50,000.00           

6=1=190 cd|]gL vfg]kfgL dd{t 6 50,000.00   50,000.00           

6=1=191 
l;Gw'k':tsfno x'+b} *'ld|L:jf+/f hfg] df]^/ af^f] 

lgdf{)f 
6 

50,000.00   50,000.00           

6=1=192 /ftfdf^f :jf:Yo rf}sL zf}rfno lgdf{)f 6 50,000.00   50,000.00           

6=1=193 
/ftfdf^f :jf:Yorf}sL x'+b} t=l;?jf/L ;r]tgf 

s]Gb| hfg] df]^/ af^f] lgdf{)f dd{t 
6 

50,000.00   50,000.00           

6=1=194 nf]wj]zL, jfbL uxt] vfg]kfgL lgdf{)F 6 50,000.00   50,000.00           

6=1=195 
b]p/fnL k|f=lj af^ yfkfufp+ x'+b} (fky'DsL hfg] 

df]^/ af^f] lgdf{)f Pj+ dd{t 
6 

50,000.00   50,000.00           

6=1=196 afx|lj;] ldt]/L o'jf Sna v]nd}bfg lgdf{)f 6 50,000.00   50,000.00           

6=1=197 

zflGtdfu{af^ rf/#/] sfnLdf^L s'jf x'+b} u}/Lufp+ 

l;Gw' k':tsfno df]^/ dfu{ hf]*\g] df]^/ af^f] 

lgdf{)f 

6 

50,000.00   50,000.00           

6=1=198 lkKn] s'nf] dd{t Pj+ lgdf{)f 6 50,000.00   50,000.00           

6=1=199 dbLvf]nf z]v/vf]nfdf]^/ dfu{ dd{t Pj+ u|fe]n 6 300,000.00   300,000.00           

6=1=200 
z]if^f/ unfkm' ;f+hf dfu{ dd{t ;+ef/ ;lxt 

u|fe]n 
6 

400,000.00   400,000.00           

6=1=201 ltn*f+*f vfg]kfgL of]hgf lgdf{)F 6 200,000.00   200,000.00           

6=1=202 rgf}} ]̂ df]^/ af^f] dd{t ;Def/ u|fe]n 6 200,000.00   200,000.00           

6=1=203 
dfbLgbL kSsLk'nb]lv x'nfsL dfu{ ljndfb] vf]nf 

sf:sL l;dfgf;Dd af^f] lj:tf/ / gfnf lgdf{)f 
6 

460,000.00   460,000.00           

6=1=204 
l;Dn], z]if^f/ lzv/vf]nf dfx]Gb|L dfu{ dd{t 

;Def/ u|fe]n 
6 

250,000.00   250,000.00           

6=1=205 
x'nfsL rf}tf/faf^ a'(fsf] rf}tf/f;Dd ;'Gb/b]jL 

hfg] dfem^f]n dfu{ u|fe]n tyf lj:tf/ 
6 

200,000.00   200,000.00           

6=1=206 
lrnfpg] rf}tf/fb]lv :ofpnLahf/ d'nkfgL dfu{ 

lgdf{)f 
6 

200,000.00   200,000.00           

6=1=207 O:nflds db/;f cw'/f] ejg (nfg 6 200,000.00   200,000.00           



6=1=208 
dfbLsf] k'nb]lv j*f sfof{no;Dd lzjfno df]^/ 

dfu{ af^f] lj:tf/, u|fe]n / gfnf 
6 

400,000.00   400,000.00           

6=1=209 ZofD#f xl^of vfg]kfgL ^+sL lgdf{)f 6 200,000.00   200,000.00           

6=1=210 j*f sfof{nob]lv un]vfd;Dd df]^/ af^f] dd{t 6 200,000.00   200,000.00           

6=1=211 dfx]Gb|L :jf:Yo cfdf ;d'x ejg lgdf{)f 6 200,000.00   200,000.00           

6=1=212 un]vfdsf]^ cw'/f] Eo' ^fj/ lgdf{)F 6 200,000.00   200,000.00           

6=1=213 OGb| df=lj= vfg]kfgL lgdf{)f 6 200,000.00   200,000.00           

6=1=214 l;Gw' k':tsfno df]^/ dfu{ u|fe]n tyf lj:tf/ 6 300,000.00   300,000.00           

6=1=215 afx|lj;] cw'/f] ;fd'bflos ejg lgdf{)f 6 200,000.00   200,000.00           

6=1=216 z+s/ cf= ljBfno sDkfp)* 6 250,000.00   250,000.00           

6=1=217 zflGt df]^/ dfu{ lj:tf/ Pj+ u|fe]n 6 250,000.00   250,000.00           

6=1=218 dfx]Gb|L u|fld)f ;*s u|fe]n Pj+ af^f] lj:tf/ 6 300,000.00   300,000.00           

6=1=219 b'/f ;]jf ;dfh cw'/f] ejg lgdf{)F 6 215,000.00   215,000.00           

6=1=220 dfx]Gb|L dfu{sf] &f+^Lb]lv dlbvf]nf;Dd u|fe]n 6 100,000.00   100,000.00           

6=1=221 ljljw km"^s/ of]hgf 6 500,000.00   500,000.00           

6=1=222 uf]xbL vfg]kfgL of]hgf dd{t 7 100,000.00   100,000.00           

6=1=223 ;fv'nL vfg]kfgL hL)f{ +̂sL lgdf{)f 7 100,000.00   100,000.00           

6=1=224 j]naf]^ >Lrf}/ vfg]kfgL +̂sL lgdf{)f 7 50,000.00   50,000.00           

6=1=225 #f+;Ls'jf dd{t tyf ;+/If)f 7 200,000.00   200,000.00           

6=1=226 sn]:tL vfg]kfgL of]hgf lkmN^/ lgdf{)f 7 100,000.00   100,000.00           

6=1=227 cfbz{ o'jf Sna v]n d}bfg lgdf{)f 7 200,000.00   200,000.00           

6=1=228 sflnsf cfdf ;d"x ejg lgdf{)f 7 600,000.00   600,000.00           

6=1=229 af]^^f/ gful/s ;r]tgf s]Gb| ejg lgdf{)f 7 500,000.00   500,000.00           

6=1=230 b/} ejg tnf yk 7 350,000.00   350,000.00           

6=1=231 >Lrf}/ d]n ldnfk cfdf ;d"x ejg lgdf{)f 7 500,000.00   500,000.00           

6=1=232 b]p/fnL cfdf ;d"x ejg %fgf / Knfi^/ 7 150,000.00   150,000.00           

6=1=233 l/:tL vs{ cfdf ;d'x ejg lgdf{)f 7 100,000.00   100,000.00           

6=1=234 z]/f k|ltyf cfdf ;d'x ejg lgdf{)f 7 150,000.00   150,000.00           

6=1=235 
Pstf cfdf ;d"x ejg kmlg{r/ / sDkfp)* 

lgdf{)f 
7 

150,000.00   150,000.00           

6=1=236 sn]:tL ;fd'bflos ejg kmlg{r/ Joj:yfkg 7 100,000.00   100,000.00           

6=1=237 
kfy|f ;fd'bflos ejg sDkfp)*jfn / zf}rfno 

lgdf{)F 
7 

350,000.00   350,000.00           

6=1=238 eb|sfnL dfu{ :t/f]Gglt 7 700,000.00   700,000.00           

6=1=239 >Lrf}/b]lv ;f+v'nL hfg] ;*s lgdf{)F 7 400,000.00   400,000.00           

6=1=240 
Jof; dfu{b]lv sflnsf dfu{ x'+b} Hofld/] vf]N;L 

;*slg= 
7 

200,000.00   200,000.00           

6=1=241 
Jof; dfu{ ;kfªbL kfgL +̂sL ;*s ;*s 

:t/f]Gglt 
7 

200,000.00   200,000.00           

6=1=242 
Jof; dfu{ z]/fb]lv pkNnf] ;'gf/ ufp+ ;*s 

lgdf{)f 
7 

200,000.00   200,000.00           

6=1=243 
Jof; dfu{ s'dfn ufp+b]lv au'jf df]^/ dfu{ 

lgdf{)f 
7 

400,000.00   400,000.00           

6=1=244 eGHofª uf]xbL p;]kfgL df]^/ dfu{ :t/f]Gglt 7 300,000.00   300,000.00           



6=1=245 l;dn^f/ g/+uf s';'d] dfu{ :t/f]Gglt 7 200,000.00   200,000.00           

6=1=246 
sflnsf dfu{ cn}+r] rf}tf/fb]lv Wo^f/L df]^/ 

dfu{ lg= 
7 

200,000.00   200,000.00           

6=1=247 
rGbg] *f+*f Jof; dfu{ tNnf]#f^ df]^/ dfu{ 

lgdf{)f 
7 

200,000.00   200,000.00           

6=1=248 
Jof; dfu{ ;'gf/ ufp+b]lv dfbLu+uf df]^/ dfu{ 

:t/f]Gglt 
7 

200,000.00   200,000.00           

6=1=249 >Ls[i)f df]^/ dfu{ :t/f]Gglt 7 200,000.00   200,000.00           

6=1=250 
Jof; dfu{ -b]jLyfg_ blnt j:tL -;fsL{ufp+_ dfu{ 

lgdf{)f 
7 

200,000.00   200,000.00           

6=1=251 g/+uf l;+rfO{ of]hgf lgdf{)f 7 100,000.00   100,000.00           

6=1=252 nD;fnl*xL s'nf] dd{t 7 50,000.00   50,000.00           

6=1=253 und vf]nf s'nf] dd{t 7 50,000.00   50,000.00           

6=1=254 Sofldg df=lj= ejg yk 7 800,000.00   800,000.00           

6=1=255 ljljw km'^s/ of]hgf k"jf{wf/ lgdf{)f 7 500,000.00   500,000.00           

6=1=256 
du/, hf}jf/L vfg]kfgL l/h{e ^+s+L / b/fd'/];Dd 

lj:tf/ 
8 

50,000.00   50,000.00           

6=1=257 
nD;fn*f+*f, zf]efhg k|f=lj=, kfv'l/rf]s vfg]kfgL 

of]hgf 
8 

50,000.00   50,000.00           

6=1=258 ;f]tLj]zL kGy/Zjf/f dSs/] vfg]kfgL dd{t 8 65,000.00   65,000.00           

6=1=259 en'jf vfg]kfgL of]hgf gof+ lgdf{)f 8 50,000.00   50,000.00           

6=1=260 uf*fkfgL a'*f]vf]nf vfg]kfgL of]hgf gof+ lgdf{)f 8 200,000.00   200,000.00           

6=1=261 
k'lnd/fª a'*f]vf]nf vfg]kfgL of]hgf-ljBfno / 

s'j+/ufp+_ 
8 

150,000.00   150,000.00           

6=1=262 ljnfpgL vf]nf vfg]kfgL +̂sL -(f* vf=kf= dd{t_ 8 50,000.00   50,000.00           

6=1=263 ld>l*xL -ldn'{ªvf]nf_ vfg]kfgL of]hgf lgdf{)f 8 200,000.00   200,000.00           

6=1=264 
b]p/fnL vfg]kfgL Joj:yfkg / cf+k^f/L vf=kf= 

dd{t 
8 

50,000.00   50,000.00           

6=1=265 tfs]{ vf]nf vfg]kfgL of]hgf dd{t 8 20,000.00   20,000.00           

6=1=266 sfnf]vf]nf -;+u|fd]̂ f/_ vfg]kfgL of]hgf 8 200,000.00   200,000.00           

6=1=267 s'On]tL -wf]ljlgvf]nf_ vfg]kfgL of]hgf 8 200,000.00   200,000.00           

6=1=268 sf]^yf]s lnkm\̂  vfg]kfgL of]hgf 8 100,000.00   100,000.00           

6=1=269 sd]/Lvf]nf vfg]kfgL of]hgf dd{t 8 20,000.00   20,000.00           

6=1=270 ;f]tLj]zL kfgL#f^ vfg]kfgL of]hgf 8 35,000.00   35,000.00           

6=1=271 ljleGg P]ltxfl;s 9 j^f s'jf dd{t ;Def/ 8 45,000.00   45,000.00           

6=1=272 ljleGg P]ltxfl;s 8 j^f dlGb/x? ;+/If)f 8 230,000.00   230,000.00           

6=1=273 jnf{rL cf]emf*L s'nf] dd{t 8 100,000.00   100,000.00           

6=1=274 jnf{rL s'dn^f/L s'nf] dd{t 8 20,000.00   20,000.00           

6=1=275 l/&\&]vf]nf 1, 2, 3, 4, 5 s'nf] dd{t 8 100,000.00   100,000.00           

6=1=276 (n]d'(f s'nf] dd{t -dSs/] vf]nf_ 8 20,000.00   20,000.00           

6=1=277 ^f/, kl*t^f/, lj/f}^] s'nf] dd{t 8 30,000.00   30,000.00           

6=1=278 lgj'jf^f/L lji^sf ]̂ s'nf] dd{t 8 10,000.00   10,000.00           

6=1=279 sf+*] cfxfn] s'nf] dd{t 8 20,000.00   20,000.00           

6=1=280 ljnfpgL vf]nf lrKn]^L v]t s'nf] dd{t 8 30,000.00   30,000.00           



6=1=281 l;:g]/L v]t s'nf] dd{t 8 20,000.00   20,000.00           

6=1=282 ljd/] v]t s'nf] dd{t 8 20,000.00   20,000.00           

6=1=283 cfo/L v]t s'nf] dd{t 8 20,000.00   20,000.00           

6=1=284 k'^\s]Zjf/f s'nf] dd{t 8 25,000.00   25,000.00           

6=1=285 gof+Hof]lt k|f=lj= dd{t 8 25,000.00   25,000.00           

6=1=286 zlxb wd{ lg=df=lj= sDkfp)* 8 40,000.00   40,000.00           

6=1=287 s[i)ffno k|f=lj= %fgf dd{t 8 25,000.00   25,000.00           

6=1=288 ;xhLjg k|f=lj= l;lnª / ljB't 8 150,000.00   150,000.00           

6=1=289 afnf]ksf/ k|f=lj= sDkfp)* 8 25,000.00   25,000.00           

6=1=290 ;f]dfhg k|f=lj= %fgf 8 25,000.00   25,000.00           

6=1=291 j*f leqsf ;a} ;*s dd{t ;Def/ 8 200,000.00   200,000.00           

6=1=292 cdn] hf}jf/L w/dkfgL sf]^yf]s dfu{ :t/f]Gglt 8 100,000.00   100,000.00           

6=1=293 
kfgL#f^ dh'jf kGy/ dSs/] gfj?ª dfu{ 

:t/f]Gglt 
8 

400,000.00   400,000.00           

6=1=294 l/:tL a/fx zflGt dfu{  8 1,500,000.00   1,500,000.00           

6=1=295 tfs]{vf]nf j]ny'DsL df]^/ dfu{ 8 100,000.00   100,000.00           

6=1=296 v*\ub]jL df]^/ dfu{  8 200,000.00   200,000.00           

6=1=297 nfnWjh df]^/ dfu{ k'lnd/fª;Dd lj:tf/ 8 900,000.00   900,000.00           

6=1=298 hglxt df]^/ dfu{ :t/f]Gglt 8 100,000.00   100,000.00           

6=1=299 zlxb wd{ df]^/ dfu{ 8 150,000.00   150,000.00           

6=1=300 
cdn] uf]ljGb] eGHofª aufn]*f+*f nD;fn*f+*f 

dfu{ 
8 

200,000.00   200,000.00           

6=1=301 l/:tL a;fx dfu{ :t/f]Gglt 8 100,000.00   100,000.00           

6=1=302 ljnfpgL eo/:yfg l;+(L nufpg] sfo{ 8 50,000.00   50,000.00           

6=1=303 ;f]tLj]zL vf]ks]Gb| em\ofn (f]sf 8 50,000.00   50,000.00           

6=1=304 
;f]tLj]zL ;fd'bflos ejgdf em\ofn (f]sf / 

zf}rfno 
8 

100,000.00   100,000.00           

6=1=305 k'lnd/fª zlxb :df/s kfs{ lgdf{)f 8 1,800,000.00   1,800,000.00           

6=1=306 anf{rL ;fd'bflos cWoog s]Gb| %fgf 8 50,000.00   50,000.00           

6=1=307 ;f]tLj]zLdf zlxb :df/s kfs{ 8 100,000.00   100,000.00           

6=1=308 du/ hf}jf/L cfdf ;d'x ejg dd{t 8 50,000.00   50,000.00           

6=1=309 uf*fkfgL cfdf ;d'x ejgdf zf}rfno 8 25,000.00   25,000.00           

6=1=310 k'lnd/f« zlxb wd{ cfdf ;d'x ejg  8 50,000.00   50,000.00           

6=1=311 j*f sfof{nodf :^f]/ / zf}rfno lgdf{)F 8 150,000.00   150,000.00           

6=1=312 cfxfn]df ;fd'bflos ejg lgdf{)f 8 50,000.00   50,000.00           

6=1=313 ;dlkm]b Ifltu|:t :yfg ;+/If)f 8 100,000.00   100,000.00           

6=1=314 afx'g kf]v/f ;fd'bflos ejg 8 50,000.00   50,000.00           

6=1=315 dSs/] ;fd'bflos ejg Knfi^/ 8 20,000.00   20,000.00           

6=1=316 ljljw km'^s/ of]hgf k"jf{wf/ lgdf{)f 8 410,000.00   410,000.00           

6=1=317 dfemkmf+^sf] xt]gL vfg]kfgL of]hgf 9 1,200,000.00   1,200,000.00           

6=1=318 j*f leqsf af^f] u|fe]n Pj+ :t/f]Gglt 9 1,200,000.00   1,200,000.00           

6=1=319 sn]:tL vf]nf l;:g]/L, /fgLkfgLdf shj] lgdf{)f 9 1,000,000.00   1,000,000.00           

6=1=320 j]nvf]nf vfg]kfgL of]hgf 9 500,000.00   500,000.00           

6=1=321 u}xL afx|lj;] s^x/] vfg]kfgL of]hgf 9 500,000.00   500,000.00           



6=1=322 d]jfjf/L vfg]kfgL of]hgf 9 400,000.00   400,000.00           

6=1=323 wf/fkfgL vfg]kfgL nIdL cf=lj= ;d]tnfO{ 9 300,000.00   300,000.00           

6=1=324 dfemkmf+^sf] b'u]{̂ f/L s'nf] dd{t 9 300,000.00   300,000.00           

6=1=325 l/&\&faf] ]̂ rfln;] s'nf] dd{t 9 300,000.00   300,000.00           

6=1=326 hf}jf/L ;fd'bflos ejg lgdf{)f 9 300,000.00   300,000.00           

6=1=327 u}/LZjf/fdf u'?ª ;+u|fno ejg lgdf{)f 9 200,000.00   200,000.00           

6=1=328 /ftkft] s'nf] dd{t 9 200,000.00   200,000.00           

6=1=329 u}/L^f/L s'nf] dd{t 9 200,000.00   200,000.00           

6=1=330 dh'jf vfg]kfgL of]hgf 9 200,000.00   200,000.00           

6=1=331 ;ftlj;] vfg]kfgL of]hgf 9 200,000.00   200,000.00           

6=1=332 ;+ud Sna v]nd}bfg :t/f]Gglt 9 150,000.00   150,000.00           

6=1=333 /fhfkfgL dxfb]j dlGb/ :t/f]Gglt 9 150,000.00   150,000.00           

6=1=334 ;fsL{u}/f v]n d}bfg lgdf{)F 9 150,000.00   150,000.00           

6=1=335 dfemkmf+^ s';'d] s'nf] dd{t 9 100,000.00   100,000.00           

6=1=336 ('+u]kfgL vfg]kfgL dd{t 9 100,000.00   100,000.00           

6=1=337 uhf}*]sf] rf}tf/f dd{t 9 100,000.00   100,000.00           

6=1=338 uhf}*] cfdf ;d'x ejg ^«; lgdf{)f 9 100,000.00   100,000.00           

6=1=339 hn]Zj/ dxfb]j kf^L lgdf{)F 9 50,000.00   50,000.00           

6=1=340 s'dfn ufp+ v]ns'b d}bfg lgdf{)f 9 50,000.00   50,000.00           

6=1=341 dfemkmf+^ v]n d}bfg :t/f]Gglt 9 50,000.00   50,000.00           

6=1=342 ;'gvf]N;L vfg]kfgL dd{t 9 50,000.00   50,000.00           

6=1=343 ;fn*f+*f vfg]kfgL dd{t 9 50,000.00   50,000.00           

6=1=344 Rofg*f+*f s'nf] dd{t 9 50,000.00   50,000.00           

6=1=345 l/&\&faf] ]̂ s';'d] s'jf dd{t 9 50,000.00   50,000.00           

6=1=346 ef]^]gL s'jf dd{t 9 50,000.00   50,000.00           

6=1=347 a;fxf:yfg df=lj= kmlg{r/ 9 50,000.00   50,000.00           

6=1=348 hf]uLkfgL vfg]kfgL dd{t 9 50,000.00   50,000.00           

6=1=349 gfl/rf}/ vfg]kfgL dd{t 9 50,000.00   50,000.00           

6=1=350 tf?sf cfdf ;d'x ejg dd{t 9 50,000.00   50,000.00           

6=1=351 s'dfnufp+sf] cfdf ;d'x ejgdf zf}rfno lgdf{)F 9 50,000.00   50,000.00           

6=1=352 dflxGb|L df=lj= kmlg{r/ lgdf{)f 9 100,000.00   100,000.00           

6=1=353 ;/:jtL cf=lj= kmlg{r/ lgdf{)f 9 50,000.00   50,000.00           

6=1=354 lzjfno ;fd'bflos ejg lgdf{)F 10 100,000.00   100,000.00           

6=1=355 af] ]̂ufp ^f]ndf r)*L dlGb/ dd{t 10 100,000.00   100,000.00           

6=1=356 w}/]g ;fd'bflos ejg lgdf{)F 10 100,000.00   100,000.00           

6=1=357 j/rf}tf/f ;fd'bflos ejg lgdf{)f 10 100,000.00   100,000.00           

6=1=358 
r)*Lb]jL /f=df=lj= v]ns'b ;fdu|L, kmlg{r/ / 

v]nd}bfg  
10 

250,000.00   250,000.00           

6=1=359 lzj df=lj= v]ns'b ;fdu|L, kmlg{r/ / a[Iff/f]k)F 10 200,000.00   200,000.00           

6=1=360 
;j{Hof]lt dfWolds ljBfno kmlg{r/ / v]nd}bfg 

lgdf{)f 
10 

200,000.00   200,000.00           

6=1=361 
efg' df=lj= lj!fg k|of]uzfnf / v]n d}bfg 

lgdf{)F 
10 

250,000.00   250,000.00           

6=1=362 hgtf k|f=lj= v]n d}bfg lgdf{)f 10 100,000.00   100,000.00           



6=1=363 ;/:jtL k|f=lj= v]n d}bfg lgdf{)F 10 100,000.00   100,000.00           

6=1=364 ;]j/ b/}ufp+ ;fd'bflos ejg lgdf{)f 10 150,000.00   150,000.00           

6=1=365 s'dfn^f/L gful/s ;r]tgf s]Gb| ejg lgdf{)f 10 200,000.00   200,000.00           

6=1=366 
d+unLu}/f ^f]nsf] l;h{gzLn ;fd'bflos ejg 

lgdf{)f 
10 

100,000.00   100,000.00           

6=1=367 (én]/L j/fx b/} lkt[:yn lgdf{)f 10 150,000.00   150,000.00           

6=1=368 af;kfgL vfg]kfgL of]hgf 10 100,000.00   100,000.00           

6=1=369 lgj'jf^/L vfg]kfgL of]hgf 10 100,000.00   100,000.00           

6=1=370 gof+j:tL /Tg ^f]ndf vfg]kfgL of]hgf 10 650,000.00   500,000.00           150,000.00  

6=1=371 b'D;L gd"gfu|fd dfu{ :t/f]Gglt 10 650,000.00   500,000.00           150,000.00  

6=1=372 zflGtgu/ ^f]nsf] v]ns'b d}bfg lgdf{)f 10 650,000.00   500,000.00           150,000.00  

6=1=373 
b'D;Lrf}/ sf]nu}/f km/fsrf}/ hf]*\g] cw'/f] df]^/ 

dfu{ lgdf{)F 
10 

650,000.00   500,000.00           150,000.00  

6=1=374 vx/] leqL sRrL ;*s gfnf / u|fe]n lgdf{)f 10 650,000.00   500,000.00           150,000.00  

6=1=375 b'D;L b/}ufp+ hf]*g] gof+ af^f] lgdf{)f 10 300,000.00   300,000.00           

6=1=376 a}/]gL ^f]n '̂gL kw]/f lgdf{)F 10 200,000.00   200,000.00           

6=1=377 eGHofé vfg]kfgL +̂sL lgdf{)F 10 200,000.00   200,000.00           

6=1=378 
lztnu'kmf ^f]nsf] ;fgf] s'jf +̂sL lgdf{)F -e'h]n 

j:tL_ 
10 

100,000.00   100,000.00           

6=1=379 
sn]:tL k'n l;Qngu/ c+w]/LeGHofé ;Dd cw'/f] 

df]^/ dfu{ lgdf{)f 
10 

350,000.00   350,000.00           

6=1=380 vx/] dfOy'Dsf cw'/f] df]^/ dfu{ lgdf{)f 10 150,000.00   150,000.00           

6=1=381 j}/]gL gofa:tL ;]j/ dfu{ 10 500,000.00   500,000.00           

6=1=382 dflxGb|L u'kmf l;+(L af^f] lgdf{)F 10 200,000.00   200,000.00           

6=1=383 zflGt ;fd"bflos ejg 10 400,000.00   400,000.00           

6=1=384 j}/]gL hf]uL^f/b/} ;fd"bflos ejg 10 400,000.00   400,000.00           

6=1=385 b]p/fnL lk*fn" vf]N;L vfg]kfgL of]hfgf 10 300,000.00   300,000.00           

6=1=386 cqf}nL /fwfs[i)f dfu{ kSsL gfnf lgdf{)f 10 200,000.00   200,000.00           

6=1=387 e"jfg] &"nf] kw]/f lnkm\̂  vf=kf= of]hgf 10 300,000.00   300,000.00           

6=1=388 sfnL*f*f lnv"/Lkfvf rfkf^f/ df]^/ dfu{ lgdf{)f 10 100,000.00   100,000.00           

6=1=389 
w}/]gL df]^/ dfu{ x"b} hfd"g] y"Dsf df]^/ dfu{ 

lgdf{)f 
10 

100,000.00   100,000.00           

6=1=390 vx/] ;fd"bflos ejg %fgf «̂i^ lgdf{)F 10 100,000.00   100,000.00           

6=1=391 /fwf s[i)f ;TQn lgdf{)f 10 100,000.00   100,000.00           

6=1=392 
b"D;Lrf}/ k"/fgf] kw]/f dd{t tyf af^f] l;+(L 

lgdf{)F 
10 

100,000.00   100,000.00           

6=1=393 ltjf/L vf]N;L sfnL*f*f cw"/f] vf=kf= of]hgf 10 100,000.00   100,000.00           

6=1=394 s"dfn^f/L emDsLgL s"jf lnkm\̂  \̂ofªsL lgdf{)f 10 100,000.00   100,000.00           

6=1=395 b"lD;rf}/ Ogf/ lnkm\̂  \̂ofªsL lgdf{)F 10 100,000.00   100,000.00           

6=1=396 b"lD;sf]^ sfnLsf dlGb/ sDkfp)* lgdf{)F 10 100,000.00   100,000.00           

6=1=397 /fDr] vf=kf= of]hgf dd{t tyf lj:tf/ 10 100,000.00   100,000.00           

6=1=398 ;"Gb/L u}/f tyf nfs"/L au}rf s"jf dd{t 10 100,000.00   100,000.00           

6=1=399 v*\usfnL df]^/ dfu{ dd{t ;'wf/ 11 50,000.00   50,000.00           

6=1=400 rr{ df]^/ dfu{ 11 50,000.00   50,000.00           



6=1=401 k'nfdL *f*f #tL{ df]^/ dfu{ 11 30,000.00   30,000.00           

6=1=402 #f]*]kfgL eujtL b]j:yn df]^/ dfu{ 11 37,400.00   37,400.00           

6=1=403 s'*fkfgL wfguf]bfd df]^/ dfu{ 11 50,000.00   50,000.00           

6=1=404 kftL#f/L vfg]kfgL of]hgf 11 30,000.00   30,000.00           

6=1=405 le/kfgL vfg]kfgL dd{t ;'wf/ 11 50,000.00   50,000.00           

6=1=406 tgx'+;'/ ko{^g k"jf{wf/ ljsf; sfo{qmd 11 149,130.00   149,130.00           

6=1=407 lr;fkfgLdf ;fj{hlgs zf}rfno lgdf{)f 11 139,300.00   139,300.00           

6=1=408 r)*L:yfg eu]/yfg x'+b} l;dnrf}/ df]^/ dfu{ 11 50,000.00   50,000.00           

6=1=409 tftf]kfgLaf^ lhjlhj] df]^/ dfu{ 11 20,000.00   20,000.00           

6=1=410 /fdy'DsL o'jfSna zf}rfno lgdf{)f 11 160,000.00   160,000.00           

6=1=411 r)*L eGHofª ldng^f/ df]^/ dfu{ 11 30,000.00   30,000.00           

6=1=412 *]/Lb]lv v}/]gL df]^/ dfu{ 11 50,000.00   50,000.00           

6=1=413 ;]/f ^f]ndf ;fd'bflos ;d'xsf] ;fd'bflos ejg 11 100,000.00   100,000.00           

6=1=414 
u}/fjf/Lsf] ^f]ndf ;fd'bflos ;d'xsf] ejg 

lgdf{)f 
11 

100,000.00   100,000.00           

6=1=415 /ftdf^f ^f]ndf vfg]kfgL dd{t 11 100,000.00   100,000.00           

6=1=416 km/fsrf}/ ^f]n ;fd'bflos ;d"x ejg 11 300,000.00   300,000.00           

6=1=417 
a;Gt lg=df=lj= /+u/f]ug, kmlg{r/, lrKn]^L lkª 

nufot 
11 

200,000.00   200,000.00           

6=1=418 hgsNof)f k|f=lj= /+u/f]ug / em\ofn (f]sf 11 150,000.00   150,000.00           

6=1=419 k'/g l*xL ^f]ndf afn pBfg 11 300,000.00   300,000.00           

6=1=420 rl)*sf lg=df=lj= kmlg{r/ 11 50,000.00   50,000.00           

6=1=421 
lgj'{ rf}tf/fb]lv >L u'Daf ;Ddsf] df]^/ af^f]df 

gfnf 
11 

150,000.00   150,000.00           

6=1=422 
a/fx vf]nfsf] dfemsf]^L ufp+df +̂sL dd{t / 

kfOk 
11 

100,000.00   100,000.00           

6=1=423 e/\ofªbL ^f]n cGtu{t lnkm\̂ af^ vfg]kfgL 11 300,000.00   300,000.00           

6=1=424 *f+*fufp+ b/}ufp+, km]bLkmf+^df af^f] dd{t u|fe]n 11 200,000.00   200,000.00           

6=1=425 rf/d'/] /ftfdf^f h'u]kfgL dfu{ u|fe]n 11 100,000.00   100,000.00           

6=1=426 ;'Gwf/f ^f]nsf] af^f] dd{t / u|fe]n 11 50,000.00   50,000.00           

6=1=427 b/}kw]/f cw'/f] vfg]kfgL of]hgf 11 500,000.00   500,000.00           

6=1=428 
;]j/ ju}rfb]lv b/}kw]/f;Ddsf] af^f] lj:tf/ Pj+ 

kSsL 
11 

500,000.00   500,000.00           

6=1=429 j]n^f/L hfd'g] l*k af]l/ª vfg]kfgL of]hgf 11 1,000,000.00   1,000,000.00           

6=1=430 l;tn dfu{ :t/f]Gglt 11 50,000.00   50,000.00           

6=1=431 afu]rf}/ dfu{ tf/hfnL 11 50,000.00   50,000.00           

6=1=432 
rGb|/fh u'?ªsf] #/b]lv led/fh u'?ªsf] #/;Dd 

af^f] / u|fe]n 
11 

100,000.00   100,000.00           

6=1=433 
/fwfs[i)f kf}*]nsf] #/b]lv %f]lnª u'Daf x'+b} 

sf]sn*f+*f kf]v/L;Dd af^f] dd{t / lj:tf/ 
11 

100,000.00   100,000.00           

6=1=434 
glGbZj/ dxfb]j dlGb/ kl/;/ leq Ho]i& 

gful/s ;T;u ejg 
11 

100,000.00   100,000.00           

6=1=435 
dflyNnf] eu]/:yfg vfg]kfgL +̂sL lgdf{)f d'xfg 

;+/If)f 
11 

100,000.00   100,000.00           



6=1=436 af/fxL df=lj= sf] em\ofn (f]sf agfpg] sfd 11 150,000.00   150,000.00           

6=1=437 y'Ds]nL ufp+sf] cfdf ;d"xsf] ejg sDkfp)* 11 200,000.00   200,000.00           

6=1=438 hfd'g] ^f]nsf] cw'/f] gfnf / u|fe]n 11 100,000.00   100,000.00           

6=1=439 tgx'+ k|f=lj= kmlg{r/ lgdf{)f 11 50,000.00   50,000.00           

6=1=440 
j*f sfof{no glhs s[lif pkh ;+sng s]Gb| 

lgdf{)F 
11 

400,000.00   400,000.00           

6=1=441 s[lif tyf kz' ;DaGwL ef}lts ;/;fdfg 11 500,000.00   500,000.00           

6=1=442 lgj'{sf] cw'/f] xf]d:^] ejg 11 150,000.00   150,000.00           

6=1=443 s'jfkfgL vfg]kfgL of]hgf 11 200,000.00   200,000.00           

6=1=444 tftf]kfgL j]N^f/L hf]*\g] dfu{ 11 200,000.00   200,000.00           

6=1=445 b/}kw]/fsf] cw'/f] ;fd'bflos ejg 11 200,000.00   200,000.00           

6=1=446 ;fj{hlgs afy?d lgdf{)f 11 200,000.00   200,000.00           

6=1=447 cr{nrf}/ ;fd'bflos ejg 11 212,620.00   212,620.00           

6=1=448 (\ofp;L vf]nf v]n d}bfg 11 200,000.00   200,000.00           

6=1=449 ef}lts lgdf{)f ;DaGwL ljljw km"^s/ of]hgf 11 500,000.00   500,000.00           

6=1=450 hn]Zj/ dxfb]j ef}lts k"jf{wf/ 11 44,130.00   44,130.00           

6=1=451 lgj'{ ;fd'bflos ejg lgdf{)f 11 150,000.00   150,000.00           

6=1=452 
vfg]kfgL dd{t -e/t/L, j]N^f/L, lr;f}bL vf]nf, 

kf^fkf^L, j]neGHofª, dflyNnf]^f/ 
12 

400,000.00   400,000.00           

6=1=453 
l%s{g j*f sfof{no ejg df]^/ dfu{ lj:tf/ / 

dd{t 
12 

1,000,000.00   1,000,000.00           

6=1=454 
x'nfs] nfdL*f+&F j*f sfof{no df]^/ dfu{ 

lj:tf/ dd{t 
12 

800,000.00   800,000.00           

6=1=455 
sdnjf/L, ^f/ j*f sfof{no ejg df]^/ dfu{ 

lj:tf/dd{t 
12 

700,000.00   700,000.00           

6=1=456 
%fAbL, km'n'{ª], /fgL:yfg j*f sfof{no ejg df]^/ 

dfu{ lj:tf/ tyf dd{t 
12 

400,000.00   400,000.00           

6=1=457 b]p/fnL gof+ rf}tf/f df]^/ dfu{ lj:tf/ / dd{t 12 400,000.00   400,000.00           

6=1=458 
l%s{g, ;'dn, gof+ rf}tf/f df]^/ dfu{ lj:tf/ 

dd{t nfdL*f+*f ;d]t 
12 

200,000.00   200,000.00           

6=1=459 j]N#f/L %fAbL df]^/ dfu{ lj:tf/ / dd{t 12 300,000.00   300,000.00           

6=1=460 /fª^fªL vf]nf shj] tyf x\o'd kfOk 12 200,000.00   200,000.00           

6=1=461 
l%s{g hf}jf/L lkknyf]s df]^/ dfu{ lj:tf/ / 

dd{t 
12 

300,000.00   300,000.00           

6=1=462 uf]Nnf x'nfs] %fAbL df]^/ dfu{ lj:tf/ / dd{t 12 400,000.00   400,000.00           

6=1=463 
b]p/fnL vfgLu}/f s^x/] df]^/ dfu{ lj:tf/ / 

dd{t 
12 

150,000.00   150,000.00           

6=1=464 sdnjf/L ;]/f df]^/ dfu{ lj:tf/ tyf dd{t 12 100,000.00   100,000.00           

6=1=465 
jfª]l;dn af]x/fufp+ kf^fkf^L df]^/ dfu{ lj:tf/ 

dd{t 
12 

100,000.00   100,000.00           

6=1=466 ljB't lj:tf/ Pj+ kf]n 12 300,000.00   300,000.00           

6=1=467 k"jf{wf/ ljsf;tkm{ km'^s/ of]hgf 12 490,000.00   490,000.00           

6=1=468 cd/Hof]lt df=lj= 12 150,000.00   150,000.00           

6=1=469 l;@]Zj/L df=lj= 12 150,000.00   150,000.00           



6=1=470 dT:osGof cfwf/e"t ljBfno 12 150,000.00   150,000.00           

6=1=471 sf]^sfnLsf hUuf ;Dofpg] rf}tf/f lgdf{)f 12 200,000.00   200,000.00           

6=1=472 eu/]:yfg a[Iff/f]k)f tyf df]^/ dfu{ dd{t 12 100,000.00   100,000.00           

6=1=473 c;f]s u'kmf ;+/If)f / df]^/ dfu{ dd{t 12 100,000.00   100,000.00           

6=1=474 %fAbL a;kfs{ dd{t tyf df]^/ dfu{ dd{t 12 100,000.00   100,000.00           

6=1=475 
j]N#f/L ;fd'bflos ejg lgdf{)f tyf zf}rfno 

lgdf{)f 
12 

250,000.00   250,000.00           

6=1=476 aufn]̂ f}jf ;fd'bflos ejg lgdf{)f 12 200,000.00   200,000.00           

6=1=477 gof+rf}tf/f ;fd'bflos ejg lgdf{)f 12 300,000.00   300,000.00           

6=1=478 b]p/fnL ;fd'bflos ejg lgdf{)F 12 100,000.00   100,000.00           

6=1=479 afnd}qL / ckf+ud}qL j*f sfof{no lgdf{)f 12 100,000.00   100,000.00           

6=1=480 uf]Nnf ahf/] df]^/ dfu{ dd{t tyf lj:tf/ 12 100,000.00   100,000.00           

6=1=481 lrnfpg] kfgL vfg]kfgL of]hgf 12 300,000.00   300,000.00           

6=1=482 l%s{g cd/Hof]lt df]^/ dfu{ lgdf{)f 12 100,000.00   100,000.00           

6=1=483 j]n#f/L cd/Hof]lt df]^/ dfu{ lgdf{)f 12 100,000.00   100,000.00           

6=1=484 rl)* dfu{ lgdf{)f 12 100,000.00   100,000.00           

6=1=485 lgdf lhDdn*f+*f j*f sfof{no dfu{ lgdf{)F 12 100,000.00   100,000.00           

6=1=486 #f+;Ls'jf kfs{ Joj:yfkg k'jf{wf/ ;d]t 12 50,000.00   50,000.00           

6=1=487 
j]njf; ;'Sn]Zj/ dlGb/ glhs dlxnf ;fd'bflos 

ejg lgdf{)f 
13 

100,000.00   100,000.00           

6=1=488 dfemy/ ^f]ndf dlxnf ;fd'bflos ejg lgdf{)f 13 100,000.00   100,000.00           

6=1=489 ;/:jtL cfdf ;d'x ejg lgdf{)f 13 300,000.00   300,000.00           

6=1=490 cfn]ufp+ ?b|fIf cfdf ;d"x ejg lgdf{)f 13 100,000.00   100,000.00           

6=1=491 
u'+bL ^f]n cGtu{t l;tnf cfdf ;d'xsf] cw'/f] 

ejg lgdf{)F 
13 

100,000.00   100,000.00           

6=1=492 
sf]^yf]s ^f]n cGtu{t /rgf cfdf ;d'xsf] cw'/f] 

ejg 
13 

100,000.00   100,000.00           

6=1=493 
l;$j]gL cfwf/e"t ljBfno afnd}qL ef}lts 

lgdf{)f Pj+ afnd}qL a;fO{ 
13 

180,000.00   180,000.00           

6=1=494 
afn sNof)f k|f=lj= afnd}qL sDkfp)*jfn 

lgdf{)f 
13 

110,000.00   110,000.00           

6=1=495 
j]gLldq k|f=lj= afn ljsf; s]Gb| sIff sf]&f 

dd{t 
13 

60,000.00   60,000.00           

6=1=496 cfkZjf/f ;kmntf afn Sna ejg lgdf{)F 13 150,000.00   150,000.00           

6=1=497 

hghfu[lt df=lj= u]^ lgdf{)f, ljBfnoaf^ j*f 

sfof{nosf] af^f], cf;fkfgLaf^ j*f sfof{no x'+b} 

«̂f;ld^/;Dd af^f] :t/f]Gglt 

13 

625,000.00   625,000.00           

6=1=498 Go'^g afn Sna ejg lgdf{)f 13 75,000.00   75,000.00           

6=1=499 u'+bLkmRof+ª lg=df=lj=sf] ejg dd{t 13 200,000.00   200,000.00           

6=1=500 l;tnf k|f=lj=sf] a;fO{ Joj:yfkg tyf *]sf]/];g 13 100,000.00   100,000.00           

6=1=501 
*f+*fjf/L÷km'?jf rf}tf/f j^fªbL df]^/ dfu{ dd{t 

lgdf{)f 
13 

175,000.00   175,000.00           

6=1=502 %fk*f+*f eGHofª ;fd'bflos ejg dd{t 13 75,000.00   75,000.00           

6=1=503 tNnf] kfxbL{ vfgLvf]nf vfg]kfgL dd{t Pj+ lgdf{)f 13 100,000.00   100,000.00           



6=1=504 lr;fkfgL u'Daf lgdf{)f 13 100,000.00   100,000.00           

6=1=505 cf;fkfgL au}+rf vfg]kfgL dd{t tyf lgdf{)f 13 100,000.00   100,000.00           

6=1=506 
kf]v/L eGHoféb]lv cf+kZjf/f;Dd l;(L tyf af^f] 

dd{t 
13 

150,000.00   150,000.00           

6=1=507 ;u/dfyf gf=;=s]= ejg tf/jf/ 13 50,000.00   50,000.00           

6=1=508 sf]^yf]s du/ u'& ejg dd{t 13 50,000.00   50,000.00           

6=1=509 zx/L :jf:Yo s]Gb| hfg] s}hn] dfu{ lgdf{)f 13 250,000.00   250,000.00           

6=1=510 
j]gLsf]^ eGHofé l/ª/f]* dfu{ :t/f]Gglt 

13 
1,900,000.00   1,600,000.00         

  

300,000.00  

6=1=511 e*\vnfb]lv hghfu[lt df=lj= dfu{ :t/f]Gglt 13 650,000.00   500,000.00           150,000.00  

6=1=512 sfnLdf^L cfn]ufp+ cf;kf;sf af^f] :t/f]Gglt 13 650,000.00   500,000.00           150,000.00  

6=1=513 j]neGHofé, %fAbL df]^/ dfu{ :t/f]Gglt Pj+ gfnf 13 650,000.00   500,000.00           150,000.00  

6=1=514 sf] ]̂nL vf]N;L vfg]kfgL dd{t ;Def/ 13 390,000.00   300,000.00           90,000.00  

6=1=515 
jRofªbL vfg]kfgL cfof]hgf ljt/)f kfOknfOg 

lj:tf/ 
13 

400,000.00   400,000.00           

6=1=516 s';')*f vfg]kfgL k'g lgdf{)f of]hgf 13 200,000.00   200,000.00           

6=1=517 k'/fgf] jRofªbL vfg]kfgL dd{t 13 100,000.00   100,000.00           

6=1=518 eªeª]b]lv sf]n*f+*f;Dd af^f] :t/f]Gglt 13 1,200,000.00   1,200,000.00           

6=1=519 %fAbL bf]efgb]lv cf;fkfgL;Dd af^f] :t/f]Gglt 13 100,000.00   100,000.00           

6=1=520 cf+kZjf/f vfg]kfgL of]hgf ;+rfng 13 200,000.00   200,000.00           

6=1=521 %fAbL /rgf ^f/L /fgLkfgL s}hn] s'nf] dd{t 13 200,000.00   200,000.00           

6=1=522 /rgfdf]xL cfdf ;d"x ejg lgdf{)f 13 200,000.00   200,000.00           

6=1=523 
kf]v/L eGHofª b'Ub pTkfbg ;xsf/L ;+:yf 

PgnfOhf/ 
13 

200,000.00   200,000.00           

6=1=524 tfd'ª, s'n'ª, s]zj^f/ df]^/ dfu{ :t/f]Gglt 14 1,000,000.00   1,000,000.00           

6=1=525 
xs{k'/, l&g gof+ufp+ df:bL df]^/ dfu{ gof+ 

\̂ofs 
14 

1,700,000.00   1,700,000.00           

6=1=526 d/f} ]̂ vfg]kfgL dd{t 14 100,000.00   100,000.00           

6=1=527 l&g '̂l*v]n tyf kfs{ lgdf{)f 14 200,000.00   200,000.00           

6=1=528 s'n'ªsf]^ vfg]kfgL +̂sL lgdf{)F 14 200,000.00   200,000.00           

6=1=529 ?D;L xfQL;'*] kb dfu{ lgdf{)f 14 300,000.00   300,000.00           

6=1=530 j]n*f+*f vfg]kfgL dd{t 14 100,000.00   100,000.00           

6=1=531 hf]uLdf]*L lkslgs :kf]^{ lgdf{)f 14 500,000.00   500,000.00           

6=1=532 
%fAbL, %f+uf, /f;LeGHof / /fdsf]^ df]^/ dfu{ 

:t/f]Gglt 
14 

500,000.00   500,000.00           

6=1=533 emn]{dvf]nf vfg]kfgL gof+ lgdf{)f 14 200,000.00   200,000.00           

6=1=534 s]zj^f/ au'jf df]^/ dfu{ gof+ \̂ofs 14 300,000.00   300,000.00           

6=1=535 cf+k^f]n cw'/f] ejg lgdf{)f 14 200,000.00   200,000.00           

6=1=536 xs{k'/ cw'/f] ;fd'bflos ejg lgdf{)f 14 300,000.00   300,000.00           

6=1=537 s]zj^f/ df=lj= uf*]{g tyf sDkfp)* lgdf{)f 14 200,000.00   200,000.00           

6=1=538 PSn] e \̂̂ L l/hfnl* df]^/ dfu{ gof+ ^\ofs 14 200,000.00   200,000.00           

6=1=539 s]zj^f/ ;'*] df]^/ dfu{ :t/f]Gglt 14 200,000.00   200,000.00           

6=1=540 ?D;L j]n*f+*f df]^/ dfu{ :t/f]Gglt 14 200,000.00   200,000.00           

6=1=541 kfxf/bL j]neGHofª vfg]kfgL dd{t 14 100,000.00   100,000.00           



6=1=542 s]zj^f/ cw'/f] dlxnf ;fd'bflos ejg lgdf{)f 14 300,000.00   300,000.00           

6=1=543 %fAbL b]jL cw'/f] ;fd'bflos ejg lgdf{)F 14 100,000.00   100,000.00           

6=1=544 emfs|L^f]n ;'vf}/f kb\d k|f=lj= gof+ df]^/ dfu{ 14 100,000.00   100,000.00           

6=1=545 s]zj^f/df ;fj{hlgs zf}rfno lgdf{)f 14 400,000.00   400,000.00           

6=1=546 s'n'ªsf]^ Eo'KjfOG^ lgdf{)f 14 200,000.00   200,000.00           

6=1=547 
a+u''/ / afv|fsf] vf]/ Joj:yfkg tyf gof+ 

lgdf{)F 
14 

600,000.00   600,000.00           

6=1=548 cn}+r] vfg]kfgL dd{t 14 100,000.00   100,000.00           

6=1=549 (fs|]Zjf/fb]lv :jfdL ?v sRrL gfnf lgdf{)F 14 150,000.00   150,000.00           

6=1=550 
?D;L u|fp)*b]lv (fs|}Zjf/f y'Dsf;Dd sRrL 

gfnf lgdf{)F 
14 

200,000.00   200,000.00           

6=1=551 gof+ufp+ rf}tf/f u|fp)* tyf uf*]{g lgdf{)F 14 200,000.00   200,000.00           

6=1=552 
gof+ufp+ df}nfsfnL, v*\ub]jL, uf]/vsfnL, 

blIf)fsfnL dlGb/ ;+/If)f tyf kfs{ lgdf{)F 
14 

100,000.00   100,000.00           

6=1=553 a; kfs{ lgdf{)f 1 2,500,000.00   2,500,000.00           

6=1=554 ;*s af]*{ g]kfn sfo{qmddf   6,450,000.00   1,950,000.00   4,500,000.0       

6=1=555 
ax'n hfltx?sf] ;+:s[lt Pj+ k/fDk/f hu]gf{ 

cGtu{t ef}lts ;'wf/ 
  

3,000,000.00   3,000,000.00           

6=1=556 sflnsf h+un kfs{ 4 2,500,000.00   2,500,000.00           

6=1=557 ;f}o{ phf{ sfo{qmd   3,000,000.00   3,000,000.00           

6=1=558 sf]n('+uf ls|s]^ d}bfg lgdf{)f 11 500,000.00   500,000.00           

6=1=559 lj=lk= jg afl^sf v]n d}bfg lgdf{)f 3 1,000,000.00   1,000,000.00           

6=1=560 50÷50 nfvsf 10 j^f of]hgf   41,007,500.00   30,000,000.0         11,007,500.00 

6=1=561 108 lkm^ Jof;sf] d'lt{ 3 1,000,000.00   1,000,000.00           

6=1=562 
Jof; If]q lzjkf~rfog dlGb/ kl/z/ kfs{ 

lgdf{)f Pj+ Joj:yfkg 
3 

1,000,000.00   1,000,000.00           

6=1=563 
k")f{ ;/;kmfO{ sfo{qmd cGt/ut blnt Pj+ ljkGg 

ju{ zf}rfno lgdf{)f 
  

1,000,000.00   1,000,000.00           

6=1=564 
d&, dlGb/, u'Daf, dl:hb k|fy{gf u[x lgdf{)f Pj+ 

dd{t 
  

3,000,000.00   3,000,000.00           

6=1=565 
gu/kflnsf Pj+ j*f sfof{no ejg lgdf{)f / 

dd{t 
  

8,500,000.00   8,500,000.00           

6=1=566 %f*f Pj+ a[$ kz' Joj:yfkg s]Gb| lgdf{)f 10 1,000,000.00   1,000,000.00           

6=1=567 
cflbslj efg'eQm SofDk; ljZjljBfno k"jf{wf/ 

lgdf{)F 
1 

1,000,000.00   1,000,000.00           

6=1=568 zlxb rGb| %fqfjf; sDkfp)* lgdf{)f ;d]t 1 500,000.00   500,000.00           

6=1=569 
Jof; gu/ s]Gb|Lo ;fd'bflos k':tsfno Pj+ 

jfrgfno ;+rfng 
  

1,000,000.00   1,000,000.00           

6=1=570 tgx'+;'/ zlxb kfs{ ;+/If)f 11 300,000.00   300,000.00           

6=1=571 :sfp^ ejg lgdf{)f 3 500,000.00   500,000.00           

6=1=572 j*f sfof{no kx'+r dfu{   8,000,000.00   8,000,000.00           

6=1=573 h]i& gful/s ;Ddfg Pj+ ;]jf s]Gb| lgdf{)f   1,500,000.00   1,500,000.00           

6=1=574 Jof; gu/ of]u ;fwgf xn lgdf{)f 3 600,000.00   600,000.00           

6=1=575 Nof)*lkmn ;fO^÷j}slNks phf{ Joj:yfkg   1,000,000.00   1,000,000.00           



6=1=576 nf]*/ / lksck dd{t   800,000.00   800,000.00           

6=1=577 df;' ahf/ ;'wf/ Pj+ dd{t   600,000.00   600,000.00           

6=1=578 bdf}nL vfg]kfgL cfof]hgf nfut ;xeflut   7,500,000.00   7,500,000.00           

6=1=579 
klZrd g]kfn vfg]kfgL sfo{qmd Doflrª 

11, 

12 1,241,000.00   1,241,000.00           

6=1=580 ljBfno ;'wf/ sfo{qmd   1,000,000.00   1,000,000.00           

6=1=581 &'nf vfg]kfgL of]hgf ;+rfng   4,000,000.00   4,000,000.00           

6=1=582 
ljB't kf]n -5042_, tf/ vl/b Pj+ kf]n 

Joj:yfkg Doflrª 
  

3,000,000.00   3,000,000.00           

6=1=583 s[lif tyf l;+rfO{   3,000,000.00   3,000,000.00           

6=1=584 ljljw km'^s/ of]hgf   4,000,000.00   4,000,000.00           

7=1 k'+hLut cg';Gwfg tyf k/fdz{                   

7=1=1 a[xb zx/L ljsf; of]hgf   2,500,000.00   2,500,000.00           

7=1=2 Plss[t ko{^g u'?of]hgf   1,700,000.00   1,700,000.00           

49=04 k'+hLutsf] hDdf   395,797,580.0 7,500,000.00 241,353,580.0 42,440,000.0 13,034,000.0   71,500,000.0 19,970,000.0 

50=96 s'n hDdf   807,177,000.0 67,857,000.0 322,003,000.0 312,783,000.0 13,034,000.0   71,500,000.0 20,000,000.0 

 

 

 

 

 
 


